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Question Paper Preview

1.Options showr in green Color and with + icon are correct.

2 Options shown in red color and with % icon are incorrect.

Question Paper Name:

Upper Division Clerks Shift 1
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Total Marks: 200
Display Marks: Yes
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Group Number : 1
Group Id: 73681524
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view?: No
Revisit allowed for edit?: No
Break time: 0
Mandatory Break time: No
Group Marks: 200
Murnerical Ability
Section Id : 73681591
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815137
Question Shuffling Allowed : Yes

Question Number : 1 Question |d : 7368154647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Convert 33 into a binary number.

Options:
1 v 100001
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o B 11

2 % 100110
4 % 110110

Question Number : 1 Question Id : 7368154647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
33 I SEAY TEAT # aRgad 1
Options:

. v 100001
, = 110011
- = 100110
4 % 110110

Question Number : 2 Question Id : 7368154648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of prime factors in (157 x@)~ x(6)" is:

Options:
1 ® 86

o W &5
= o o2
g #® o0

Question Number : 2 Question Id : 7368154648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(15)"x(4)"x(6)" H HATT FHM (prime factors) FHT FEAT g:

Options:

; & 86
> % 85
3¢ 92
4 % 90

Question Number : 3 Question Id : 7368154649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What least value must be assigned to * so that the number 2361%48 is divisible by 97

Options:
1 & 4

>« 3
3.%9‘
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Question Number : 3 Question Id : 7368154649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
“ T P T #g7aH A [GA1 S =1fge arfer wear 2,361+48, 9 & fasm=w g2

Options:

1_%4

> o 3

3_%9

4 % 2

Question Number : 4 Question Id : 7368154650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute; 123 x 999+123,

Options:
. % 123999

> % 246999
5 % 246000
4 « 123000

Question Number : 4 Question Id : 7368154650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IOTAT FL 123 « 999+123
Options:

% 123999
. % 246999
5 = 246000
4 v 123000

Question Number : 5 Question Id : 7368154651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
; : i 05 i1
Find the units digit in (2457 +(141)
Options:
1.v 6

2_%5
3_%]
4 % 0
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

(245" +(14)™  F THSAT F 3F WA
Options:
1.« 6
> % D
z % 1

4% 0

Question Number : 6 Question Id : 7368154652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 123 x 625+625.

Options:
; % 77621

> % 77654
s % 76875
4 & 77500

Question Number : 6 Question Id : 7368154652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IOTAT HL: 123 < 625 + 625
Options:

| % 77621
o % 77654
5 % 76875
4 v 77500
Question Number : 7 Question Id : 7368154653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

: i : i g i .
Hasan studies for 5 - hours daily. He devotes 2 - hours of his time for Science. How much

ps ]

time does he devote for other subjects?
Options:

3 3 hirs
2

4 R 10
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Question Number : 7 Question Id : 7368154653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

§UA YA 5 - Hel A% euTS W1 § T T NI WA F 2 L we
A== &1 231 £, 9 3F 3T AT ¥ GFaar gHT &ar 27

Options:

3
1 %

L

e

ba | ==

T EHE
et o
3 — "

Question Number : 8 Question Id : 7368154654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Raj and Suraj together bought a water bottle that contained 2 litres of

water. Raj consumed 1 of the water. Remaining water was consumed

4
by Suraj. Find the amount of water consumed by Suraj in litres.

Options:
1 ® 0.5L

5 o LA
T 2L
4 % 25L

Question Number : 8 Question Id : 7368154654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 3R §IS  UF A A H TF aiqer TG [HH@H 2 A T o7 T
7 - e ol R # e e @ e e @ e e e A

ATAT #eT H FI|

Options:

; = 0.5 @eT
. « 1.5 3ieT
5 % 2 oeY

4 % 2.5 ®leX

Question Number : 9 Question Id : 7368154655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A.B. C and D finished coloring a picture in 3 hour. L hour, % hour
4 12

and E hour respectively. Who among the following finished their
coloring first?

Options:

1. % C

2_%?&.
2.« B
4. % D

Question Number : 9 Question Id : 7368154655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A, B, C 3R D & wam: %u%llju% guﬁaﬂtgm‘fﬁaﬁﬁrﬁw
A FT FF AT Far F=e@a & @ Fes 98 92 o
A FT FT FATT FaT?

Options:

1_%(:
Q_WA

3v B
4 % D

Question Number : 10 Question Id : 7368154656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which among the following is the largest?

Lia
|
L

A

I.J|Lu

M ra
#® #®
| =~

o
B
-[-.|U1

Question Number : 10 Question Id : 7368154656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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FiT @ TEIT FEE T2 2?

b |
| =
b | =

4= | LA

Options:

1. W

(S S S

Balu W=

Question Number : 11 Question Id : 7368154657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference of two numbers i1s 10 and one-fifth of their sum is 8.
Find the smallest number.

Options:
1 ® 35

o W 45
T W 28
4 o 15

Question Number : 11 Question Id : 7368154657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2 3¥Fr F HaT 10 3T 39%F TeET FT 1/5a7 BEOT 8 B TEW oI TEIT 94T
FL
Options:

1 ® 35
o B 45
= B 28

4 ¢ 15

Question Number : 12 Question Id : 7368154658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference between a number and its three-fifth is 26. What is the number?
Options:
i:: % 30

2 & 63
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B

T 39

Question Number : 12 Question Id : 7368154658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U TEIT 3T 30& 3/5 & & F 397 26 &1 T&IT F4T 27
Options:

; = 30
> v 65
z % 69
4 % 39

Question Number : 13 Question Id : 7368154659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the value of (—2)° x(2)” x(3)°
Options:

. % @FxEY

> % 27

3 =27

4 % -108

Question Number : 13 Question Id : 7368154659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(=2) x(2)° x(3)° T AT 94T FI|
Options:

% (@7 x@)

> % 27

3« =27
R

4 % =108

Question Number : 14 Question Id : 7368154660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If 78X3-3Y56=4367. then which of the following should come in
place of X?

Options:
1 & 5

o R

| S o

2
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4 % 2

Question Number : 14 Question Id : 7368154660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofe 78X3-3Y56 = 4367 g, df Trataiea # ¥ X & T 9T FI7 H=T
TET?

Options:

| % 9

2_%5

3¢ 2
4% 3

Question Number : 15 Question Id : 7368154661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
359+256) +(359—256)°
Solve : ( - )+ — )
3503501 256 256

Options:
1. ¢ 2

5 % 615
3 % 516
4 % 1089

Question Number : 15 Question Id : 7368154661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
= (359+256)° +(359-256)
RPN 359% 350+ 256 256

Options:
1. ¢ 2
. % 615
2 % 516

. % 1089

Question Number : 16 Question Id : 7368154662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The present salary of Krishna is Rs.3500. This will be increased by

10% in the next year. What will be the increased salary of Krishna?

Options:
1 ® Rs.3900

> o R5.3850
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4 ® Rs.3950

Question Number : 16 Question Id : 7368154662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FSUTN H TAATS a8 3500 FIF g1 3797or a9 gFH 10% H1 e gefnl e &
ST FUT T F&T 3T I fohar gem?

Options:

| % 3900 F
5 « 3850 I
5 » 4000 ¥
. # 3950 T

Question Number : 17 Question Id : 7368154663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an examination. 96% of the candidates passed and 500 failed. How many candidates
appeared for the examination?

Options:
1 % 13500

> % 14000
= % 12000
4 o 12500

Question Number : 17 Question Id : 7368154663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v o{teT & 96% it 3ehtT X 500 redor gul e 7 e ol
39TEa 97

Options:

. % 13500
. = 14000
- = 12000
. 12500

Question Number : 18 Question Id : 7368154664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What percent of one day is 8§ minutes?

Options:
1 ® 55%
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LA

o B 70
= v 0.55%
4 % 2.5%

Question Number : 18 Question Id : 7368154664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

uF R F g wiaea 8 B g &7
Options:

, % 55%
. % 5.5%
- « 0.55%
. % 2.5%

Question Number : 19 Question Id : 7368154665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Express 50 paise:4 rupees in its simplest form.
Options:

1 « 1:8

> % 81

= % 45

4 ® 54

Question Number : 19 Question Id : 7368154665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
50 99 : 4 TU¥ H IHS WIOH & H AT

Options:
1 ¢ 1:8

o ® a:1
z ® 4:5
4 ® 5:4

Question Number : 20 Question Id : 7368154666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Two numbers are in ratio 6:5. If 5 i1s subtracted from each. the ratio becomes 5:4. Find the
largest number.

Options:
1 ® 26

2 o 30

o W 24
visit this website studytosuccess.in
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Question Number : 20 Question Id : 7368154666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ar 37% 6:5 F IFUIT H g1 Il Tedsh A W 5 TERT AW, & 39T 5:4 &
ST ¥ OEY 927 TEIT UAT F1

Options:

1 % 26
2 v 30
2 % 24
4 % 20

Question Number : 21 Question Id : 7368154667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A bag contains 50 paise. 25 paise and 10 paise coins in the ratio 5:8;3
amounting to Rs.144/-. Find the number of 50 paise coins.

Options:
; % 163

> % 175
3 & 150
4 % 200

Question Number : 21 Question Id : 7368154667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

v I # 50 W, 256 4 HIT 10 % & fher FAM: 5:8:3 F HgId H
TSieTehT ol AT 144/- T g1 50 9 & W v F&AT 94T F|

Options:

| % 163
> % 175
5 v 150
. % 200

Question Number : 22 Question Id : 7368154668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 205.302,108.403.202.

Options:
; % 450

> % 1225
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= &

4 ¥ 244

Question Number : 22 Question Id : 7368154668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

205, 302, 108, 403, 202 & 3itEd AT FI|
Options:

, % 450
. % 1225
s ® 1220
L 244

Question Number : 23 Question Id : 7368154669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The average of 6 quantities is 7. The average of three of them is 5. What is the average of
remaining quantities?

Options:

1.v 9

o W 15

T W 42

4 B 30

Question Number : 23 Question Id : 7368154669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

6 HEATHT &7 3ET 7 81 598 ¥ 7 &7 dtEg 5 g1 9w gEarst &+ st
fBraar e

Options:

1. ¢ 9

> % 15

z % 42

4 B 30

Question Number : 24 Question Id : 7368154670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average monthly income of P and Q is Rs.6000. The average monthly income of Q
and R is Rs.5250 and the average monthly income of P and R is Rs.5500. The monthly
income of P is?

Options:
1 #® Rs.4500
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2 « Rs.6250
4 % Rs.4800

Question Number : 24 Question Id : 7368154670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

P 3t Q #r 3itwa &1fd= 37 6000 ¥ &1 Q 3T R #Fr sitwg afgs 3w
5250 &9 3T P 3t R #r 3itga &A1&+ 317 5500 &9 g1 P &1 Afg+ 3=
g aefr?

Options:

| % 4500 ¥
5 » 3500 T
2 v 6250 T
, = 4800 ¥

Question Number : 25 Question Id : 7368154671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the amount at simple interest on Rs. 3200 for 2 years 6 months at 5% per annum.

Options:
1 ® Rs.3500

> « R5.3600
= % Rs.3800
4 % Rs.3900

Question Number : 25 Question Id : 7368154671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3200 F9F 9T 9fd 9§ 5% TIURUT &7 T 27 & 2 O 6 FAgled & d¢ Heer
arelr TR AT F4I

Options:

| % 3500 FTI
> v 3600 ¥
5 % 3800 ¥
, % 3900 T

Question Number : 26 Question Id : 7368154672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in
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percent are numerically equal.

N
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Options:

1 i_ years

1 =%

1 li years

> R

? 0
5 o 2Years

5

y years
4 %

|~J| —

Question Number : 26 Question Id : 7368154672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
U fAPTd UM 9T WYROT 4TS el i ¥ iy gEg 3k 9feT e
HEIT & AN UF HA g, af FHT H a7 AT

Options:

g

—h
[N

g

r2
®
—
| =

T

o | ﬂ

Question Number : 27 Question Id : 7368154673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Simple interest for a sum of Rs.3000 for 2 years is Rs.20 more than
the simple interest for Rs.2500 for the same duration. Find the rate of
interest.

Options:

LW

I
=

0
> ® 5%
3 % 4%
4 % 3%

Question Number : 27 Question Id : 7368154673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 grer & fore 3000 w9 Fr ufer o Fes arem @rarer a1+, 2500 F9F °Y
3HT 3Ty & fov fAee arer ST sars # goe # 20 ¥ § AT ¢
ST &7 ST AT F

Options:
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1. v &/o

o B 59‘;0
z B 49‘;0

4 R 3%

Question Number : 28 Question Id : 7368154674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A watch costing Rs.1250 has been sold for Rs.1500. The percentage of profit was?

Options:
1 ® 24%

> % 25%
= ® 21%
4 o 20%

Question Number : 28 Question Id : 7368154674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T.1250 &1 ST A= drell T37 & ©.1500 H =T IAT| 18T &1 Giaerd = oar?

Options:

| % 24%
, % 25%
s % 21%
4 20%

Question Number : 29 Question Id : 7368154675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Supriya sells a washing machine for Rs.8500. She loses 15% in the bargain. What was the
price at which she bought it?

Options:
1 % Rs.12000

- « Rs.10000
- % Rs.11000
4 % Rs.10500

Question Number : 29 Question Id : 7368154675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gﬁm#z.asooﬁwaﬁﬁmﬁaawsiersztrﬁ‘i‘érﬁw%mgm?rgml
38 Tg anefier 7ofe frae & @i o

Options:
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% 1380079 y

- v ¥.10000
- % ¥.11000
. % ¥.10500

Question Number : 30 Question Id : 7368154676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Lekhva bought an article for Rs.5844. Due to some defects in it. she had pay Rs.156 to the
mechanic for its repair. Then. she sold it for Rs.5700. Find her loss percent.

Options:

i

594

T,

L

I

46%

a3

by
Ly

L

=
3.
4

I

5%

Question Number : 30 Question Id : 7368154676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST 7 T.5844 F U IE] Wil SHA FO 3IY @ & HNUT 38 ST
AFAT & T #FfAs # $.156 @3 T 38+ 59 £.5700 & = &am 3@
Wﬁ%ﬁﬂﬂﬂgﬁ

Options:

, % 5.5%
o % 2.46%
= o 5?"’0

4 ® 285%

Question Number : 31 Question Id : 7368154677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An item 1is sold at Rs.528 by allowing a discount of 12% on its marked price. The marked
price of the item is?

Options:
1 ® Rs.700

~ % Rs.590
= o Rs.600
4 % Rs.650

Question Number : 31 Question Id : 7368154677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 . . ; .
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Teh TG F 3H T HlHd TT 12% BT HT $.528 H =T IA;T| TE]

W AHha HAET A2
Options:

. % ¥.700
. % ¥.590
5 v 5.600
. % .650

Question Number : 32 Question Id : 7368154678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What is a single discount equivalent to a discount series of 12% and 13%?
Options:

L

I-.2
h

4.5%
3.44%

| B

= o
5 % 25%
4 ® 20%

Question Number : 32 Question Id : 7368154678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
12% 3R 13% & T FWT & WA Tehel BT fohclell 87

Options:

| % 24.5%
o @ 23.44%
2 % 25%
L % 26%

Question Number : 33 Question Id : 7368154679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The marked price of a bicycle is Rs.1150. A shopkeeper allows a discount of 15% and gets
a profit of 15%. Find the cost price of the bicycle.

Options:

1 " Rs.850

-~ % Rs.1000

= % Rs.900

4 % Rs.950

Question Number : 33 Question Id : 7368154679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Teh

Options:

. v ©.850
. = %.1000
- % ¥.900
. % T.950

Question Number : 34 Question Id : 7368154680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

ate Note A

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Study the following table carefully and answer the question that follows.
Trends of Sex Ratio and Child Sex Ratio in India

Il previous year Exam paper provides

3T §| U ZHEN TH

T 15%

CENSUS 2011 2001
CHILD CHILD
STATE SEX SEX SEX SEX
RATIO RATIO RATIO RATIO
(O-Gyears) (O-6years)
Kerala 1084 964 1058 960
Puducherry 1037 967 1001 967
Tamil Nadu 0906 043 087 042
Mizoram 976 970 Q35 064
Karnataka 973 048 065 946
Goa 973 042 961 038
Himachal Pradesh 972 909 968 896

Which state is leading with child sex ratio in 20017
Options:

1 ® Goa

- % Kerala

5  Puducherry

4 % Mizoram

Question Number : 34 Question Id : 7368154680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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AR # T seera 3R arer T s o
SATOTAT 2011 2001
I arer foreT
T IGE T forer Heg AT
¥qard | (0-6 FW) | HeqHa | (0-6 TW)
T 1084 964 1058 960
EERY 1037 967 1001 967
GIGGEIE 996 943 987 942
=S IEe=] 976 970 935 964
FATEF 973 048 965 046
e 973 942 961 938
feaT=er 9eor 972 909 968 896
T 2001 7 &I & =T FTor T eI A FEH AT 82
Options:
1. = TﬂEIT
o % el
39 2
4 % THIARH

Question Number : 35 Question Id : 7368154681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Trends of Sex Ratio and Child Sex Ratio in India
CENSUS 2011 2001

CHILD CHILD
STATE SEX SEX SEX SEX

RATIO RATIO RATIO RATIO

(O-6years) (0-Gyears)

Kerala 1084 064 1058 960
Puducherry 1037 967 1001 967
Tamil Nadu 096 043 987 042
Mizoram 0976 970 035 064
Karnataka 973 048 065 946
Goa 973 042 961 038
Himachal Pradesh 972 909 968 896

What is the percentage increase in sex ratio in Tamil Nadu?

Options:
L ® 9.1%

5 0.91%
T R 199%,

4 % 9%

Question Number : 35 Question Id : 7368154681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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SAOTAT 2011 2001

e ToreT EICREE

T T T foreT Heg AT

¥qard | (0-6 FW) | HeqHa | (0-6 TW)
T 1084 964 1058 960
EERLY 1037 967 1001 967
GIGGEIE 996 943 987 942
IP=rc i npef 976 970 935 964
FAEH 973 948 965 946
T 973 942 961 938
TEAT=oT 93er 972 909 968 896

affrereng & T e & Rraer gfaera &1 gy §82
Options:

{ % 9.1%

> « 0.91%

z % 19%

4 ® 9%

Question Number : 36 Question Id : 7368154682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Trends of Sex Ratio and Child Sex Ratio in India
CENSUS 2011 2001

CHILD CHILD
STATE SEX SEX SEX SEX

RATIO RATIO RATIO RATIO

(O-6years) (0-Gyears)

Kerala 1084 064 1058 960
Puducherry 1037 967 1001 967
Tamil Nadu 096 043 987 042
Mizoram 0976 970 035 064
Karnataka 973 048 065 946
Goa 973 042 961 038
Himachal Pradesh 972 909 968 896

For which state. the child sex ratio remained unchanged?

Options:
1 % Karnataka

- % Tamil Nadu
= #® Goa

4 « Puducherry

Question Number : 36 Question Id : 7368154682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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AR # T seera 3R arer T s o
SASTOTAT 2011 2001
I arer foreT
T IGE T forer Heg AT
¥qard | (0-6 FW) | HeqHa | (0-6 TW)
T 1084 964 1058 960
EERY 1037 967 1001 967
GIGGEIE 996 943 987 942
=S IEe=] 976 970 935 964
FATEF 973 048 965 046
T 973 942 961 938
feaT=er 9eor 972 909 968 896
fra o= & are [T #71 s sREfda @
Options:
| % FACH
5 % TET
4 & 33

Question Number : 37 Question Id : 7368154683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Trends of Sex Ratio and Child Sex Ratio in India
CENSUS 2011 2001

CHILD CHILD
STATE SEX SEX SEX SEX

RATIO RATIO RATIO RATIO

(O-6years) (0-Gyears)

Kerala 1084 064 1058 960
Puducherry 1037 967 1001 967
Tamil Nadu 096 043 987 042
Mizoram 0976 970 035 064
Karnataka 973 048 065 946
Goa 973 042 961 038
Himachal Pradesh 972 909 968 896

For which states. the sex ratio i1s same in 2011 census?
Options:
, ® Tamil Nadu, Mizoram

5 % Goa. Kerala
- « Goa. Karnataka

4 % Kerala. Mizoram

Question Number : 37 Question Id : 7368154683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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SAOTAT 2011 2001

e ToreT EICREE

T T T foreT Heg AT

¥qard | (0-6 FW) | HeqHa | (0-6 TW)
T 1084 964 1058 960
EERLY 1037 967 1001 967
GIGGEIE 996 943 987 942
IP=rc i npef 976 970 935 964
FAEH 973 948 965 946
T 973 942 961 938
TEAT=oT 93er 972 909 968 896

fret =t &, 2011 i FETOTT & T T U AT W@ 82

Options:

luaﬁaa@,ﬁaﬁm
. % &, FA

. T, FAlh

, % ot THARA

Question Number : 38 Question Id : 7368154684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Trends of Sex Ratio and Child Sex Ratio in India
CENSUS 2011 2001

CHILD CHILD
STATE SEX SEX SEX SEX

RATIO RATIO RATIO RATIO

(O-6years) (0-Gyears)

Kerala 1084 064 1058 960
Puducherry 1037 967 1001 967
Tamil Nadu 096 043 987 042
Mizoram 0976 970 035 064
Karnataka 973 048 065 946
Goa 973 042 961 038
Himachal Pradesh 972 909 968 896

What is the percentage increase in child sex ratio in Karnataka?

Options:

1 o 0.21%
> % 0.2%
z % 2%

g W 129

Question Number : 38 Question Id : 7368154684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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AR # T seera 3R arer T s o
SITOTAT 2011 2001
e ToreT EICREE
T T T foreT Heg AT
¥qard | (0-6 FW) | HeqHa | (0-6 TW)
T 1084 964 1058 960
EERY 1037 967 1001 967
GIGGEIE 996 943 987 942
IP=rc i npef 976 970 935 964
FAEH 973 948 965 946
Irar 973 942 961 938
feAT=er geor 972 909 968 896

FAleeH H AT [oFT HeJara # Fiawra IfE Far 87
Options:

. v 0.21%

> % 0.2%

2 & 2%

4 % 12%

Question Number : 39 Question Id : 7368154685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1

The area of a square field is - hectare. Find the length of its diagonal in metres.

Options:
1 # 50mits

5 « 50 2 mis
= % 40mts
4 ® 25mts

Question Number : 39 Question Id : 7368154685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

waﬁmmm% FFTT ¥ O ST & e H@eT F e aeie

Options:
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1 ® 50‘

» v B0 V2 e
4 ® 25 T—r”EI

Question Number : 40 Question Id : 7368154686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The base of an isosceles triangle is 14cm and its perimeter is 36cm. Find its area.

Options:
1 % 48cm

> # Sdem”
= 42 2em?

| 42cm’

Question Number : 40 Question Id : 7368154686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U FHG FaTg T FT amaw 14 v § sk g oy 36 @
g1 SHFT &% AT HL

Options:

. % 48 T [T
5 % 84 T WA
. v 4242 T T
4 % 42 T WAL

Question Number : 41 Question Id : 7368154687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The diameter of the wheel of a car is 49cm. How many revolutions will it make to travel 6.16km?

Options:
1« 4000

5 % 600
5 % 6500
4 % 4500

Question Number : 41 Question Id : 7368154687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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T FIX & IgdT T <arq 49 WA gl 6.16 IMEAT T R & T
fFaa =TT gAa 959?

Options:

| 4000
. % 600
- % 6500
. = 4500

Question Number : 42 Question Id : 7368154688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A car travels 650km in 12hours and another 850km in 18hours. Find
the average speed of the car.

Options:
1 ® 52km/h

> « S50km/h
3 % 47 km/h
4 % 48km/h

Question Number : 42 Question Id : 7368154688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FX 12 ¢ H 650 FardEeT 3T 18 o # 37 850 FardEeT &r I
FTaT &1 FX & dog 7 79 F:

Options:

. = 52 A Eer
> 50 .. aer
- » 47 A A
4 » 48 Ty /aer

Question Number : 43 Question Id : 7368154689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A vehicle travels at 80km/h. How many meters will it travel in 15minutes?

Options:
1 % 22000 mits

- % 24000mts
= #% 25000mts

4 « 20000mts
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

T e 80 T&.Fr./mer & oy ¥ I AT 81 I8 15 Bee # B der &
o 7T FEm?

Options:

| % 22000 #HeT
, % 24000 Hrex
- % 25000 FHrey
. v 20000 #HeT

Question Number : 44 Question Id : 7368154690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Aryan can cover a certain distance in 1hr 30min by covering two-third of the distance at
4kkmph and the rest at Skmph. Find the total distance.

Options:
1 ® 6.3km

> o 06.4km
3 % 6.5km

4 % 06.6km

Question Number : 44 Question Id : 7368154690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

W v @RET g F 1 ger 30 B & 9 e & T ¥ - T e
4 /e # afg & 3R A aer 5 TRAL/Eer F At § T3 AT g T
g AT F

Options:

, = 6.3 frarreT
> « 6.4 TrarHRT
- » 6.5 TRt
4 % 6.6 fEeraET

Question Number : 45 Question Id : 7368154691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rani takes 30minutes to reach school from home. Raja takes 45minutes to cover the same
distance. Find the ratio of time taken by Rani to the time taken by Raja.
Options:
1 8 3:2
visit this website studytosuccess.in
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) 3

3 o 213
4 ® 13

Question Number : 45 Question Id : 7368154691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tl WY F T aF Tgu & v 30 Aae S 71w gae & g a7 e
F forr 45 fise @ar &1 T ganT 3R TS ganr o AT §HT & e v
OaT T

Options:

1 ® 3:2

- ®B 4:3

3\_,—4‘23

4_&»31:3

Question Number : 46 Question Id : 7368154692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Smita works in office for 6hours and Kajal works for Thours 30minutes in her office. Find
the ratio of their working hours.

Options:
1« 45

> % 54
= 8 33
4 ® 067

Question Number : 46 Question Id : 7368154692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Brar e 7 6 O 3T F1ae 397 FaeT 7 7 g 30 Bae #5187 F:dr
gl 3% FH & G & I H AT TN

Options:

1« 45
> % D4
z % 35
4 % 67

Question Number : 47 Question Id : 7368154693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The ratio of t1111e59t53;en|YJ| 'A and B to finish a pIECg of work i 1.3. 1T A CG‘:H}!!)]ETE‘S,t 1e

work m 15days. then find the time taken by B to complete the work.
Options:
, = 3days

o o d5days
5 # 20days
4 = 18days

Question Number : 47 Question Id : 7368154693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ey F1F # W wa & v A AR B g@R O 717§/ # 3e 13 8
IfE A 38 F1F & 9 F F 16 G ar &, I B F FH F QW FA A

F e
lhddl HHIO M7
Options:

Question Number : 48 Question Id : 7368154694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Kanchan can do a work in 5days and Kangana is 25% more expert than Kanchan to
complete the same work. then find the total time taken to complete the work by Kangana.
Options:

1
F—L?r-.’i"_*l»‘j‘

1 ® 2
l

4—days

2 %
3 o 4 dmys
4 % Gdays

Question Number : 48 Question Id : 7368154694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fad T HH H 5 T & Q@ T Tl & 3T F9a1 38w H Haaad
ot H 25% ITET =0 T ¥ FT Whal ¢, af FH F O & & o
AT SIRT o AT Fer FAT FH IAT =T

Options:
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Question Number : 49 Question Id : 7368154695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If A can do a piece of work in 4days. B can do the same in 6days and
C can do the same work in 8days. then working together. how many
days will they take to complete the work?

Options:

i1
1— days
q o i3

- % 9days
1
2 - days
= W 2
4 ® 24days

Question Number : 49 Question Id : 7368154695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A TF FH F 4 & F 9T F TFA 8, I B 37 FH F1 6 fEAr 7 K C
39 FH FF 8 fgal # T F Fhal g, Al 3e¢ T FeAat 38 FH F T
T H ras G s=mE
Options:

H
1.¢ 13

> % 9feeT
1

- ziﬁ?

4 % 24T

Question Number : 50 Question Id : 7368154696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
40 men can complete a work in 15days. Sdays after they started working. 20 more men
joined them. How many days will they now take to complete the remaining work?
Options:
9
6— davs
-
I W
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O6—clavy
> ® D

2
T—dmys
a

=

8= dleivs
4 %

Question Number : 50 Question Id : 7368154696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
40 =9 UF FH FH 15 e # U T e 21 3% GFR FH ¥ F F 5
o= a1 20 W 37 3R onfde g S € 3" A & FH G F A F
Options:

6

Lad | b2

977

-]
L | b2

b
®
£

English Language

Section Id : 73681592

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 32

Number of Questions to be attempted: 32

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815138
Question Shuffling Allowed : No

Question Id : 7368154697 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51to 60)
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Read the paﬂsageggn-'en gle?c:- ~ahd answer the ques’r?nns that FOlow 1t paperp

We can be easily swayed by political catchphrases and advertising slogans, that are
intentionally crafted to convince and direct us into making certain choices. The advertising
world is rife with “authentic™ storytelling, which uses beautifully shot images. symbolism.
and language to generate emotional narratives.

So. the linguistics of mass persuasion has become necessarily more sophisticated to

handle the challenges of an increasingly cynical public. It has to seem authentic—and not
deliberately manipulative—to work. You might have noticed, for instance. how the
advertising world is rife with “authentic™ storytelling. which uses beautifully shot images,
symbolism, and language to generate emotional narratives. Yes, language can subtly frame
a story for us: lead us down the garden path—but then what? There’s actually an insidious
little rhetorical trick being used that we’re often blind to. Surprisingly. the trick is to
seemingly give up control of the narrative and let these framed ‘stories’ all end on a kind
of cliffhanger. which we then mentally fill in to determine the outcome.

“Persuasion by hinting’ might seem like a fuzzy leap of faith but modern advertising has
already trained us to resolve omitted information just the way we’re supposed to. Consider
constructions such as “20% more/quieter/cleaner/bigger/faster!” (than what?). These are
all comparatives that aren’t actually being compared to anything at all. They're
grammatically unresolved phrases and we’re gently led to expect something there. So we
fill-in-the-blank ourselves. within the frame of the new narratives we’ve been fed, in an act
that seems to be totally under our control, but isn’t.

Sub questions

Question Number : 51 Question Id : 7368154698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The most suitable title for this passage is:
Options:

, « How Language Works in Advertising

> % We Complete Advertisements, Driven by Words
- % ‘Persuasion (sic!) by Hinting’
4 % Led by Our Nose by Words

Question Number : 52 Question Id : 7368154699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Consider the phrase ‘the linguistics of mass persuasion’. Linguistics is the study of
language. Keeping that in mind, this of the following will NOT qualify for this phrase?
Options:

1 + A funeral oration

> % A Town-Hall debate
= % A Sermon

4 % Speechin a political rally

Question Number : 53 Question Id : 7368154700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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quieter/ CIEHHEI bigger /faster!” means in an advertisement. But we

Options:
, % Are ashamed of our ignorance and so don’t open out to others about this.

o o Are so used to default-value- filling in our lives when we hear things.
- w Aren’t aware of this ‘clarity-mist” or aren’t cynical about this.
, % Are ‘duped’ easily by images, symbols and the emotive language employed.

Question Number : 54 Question Id : 7368154701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The writer declares. ‘The advertising world is rife with “authentic” storytelling...” The
word rife has among its many meanings these: rampant, common. and endemic. Keeping
in mind the writer’s attitude to the use of language in advertisements, ‘rife’ here suggests
Options:

, % something nice, warm and pleasant.

-  something that the author would like to complain about.
- % something dark. evil and unpleasant.

4 % something normal in life.

Question Number : 55 Question Id : 7368154702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 V\/_rong: 0.25

Which other profession does the writer mention along with
advertisements that ‘uses’ language:

Options:

, % teaching

- % compering

- % blog-writing
4  politics

Question Number : 56 Question Id : 7368154703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘It has to seem authentic..’ [fill in the blank choosing one] ‘the

sophistication of linguistics of mass persuasion.”
Options:
1 % 1s a continuation of
> % Is an instance of

- # Isaproofof

4 « Is an addition to

Question Number : 57 Question Id : 7368154704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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and through this he is:
Options:
, % making a complaint

> % making an assertion
5 % stating a position
4 + OPening up an argument

Question Number : 58 Question Id : 7368154705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Authentic’ story-telling in media involves;
Options:

, % using ‘clever’ language

- % Using realistic images. suggestive symbols and pleasant words

3 o combining pictures, the contents of the pictures and ‘chosen’ words

4, % choosing an interesting incident

Question Number : 59 Question Id : 7368154706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The writer uses the words ‘insidious’ and ‘trick” and the idiom *lead us down the garden
path’. The idiom means;

Options:

. dangling something aftractive, lead us by our nose

-~ % promising. with an intent to cheat. a future heaven to cheat us ‘now’
- % show us beautiful plants, attractive flowers and such things in a garden

, % Creating a magic show where tricks are performed. but here with evil intentions

Question Number : 60 Question Id : 7368154707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose a one word substitute for ‘to resolve omitted information’
Options:

, % design

> o default
z % defect
4 % draw

Question Id : 7368154697 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51to 60)
Juestion Label - Comprehension
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We can be easily swayed by political catchphrases and advertising slogans, that are
intentionally crafted to convince and direct us into making certain choices. The advertising
world is rife with “authentic” storytelling, which uses beautifully shot images. symbolism.
and language to generate emotional narratives.

So. the linguistics of mass persuasion has become necessarily more sophisticated to
handle the challenges of an increasingly cynical public. It has to seem authentic—and not
deliberately manipulative—to work. You might have noticed, for instance. how the
advertising world is rife with “authentic™ storytelling, which uses beautifully shot images,
symbolism. and language to generate emotional narratives. Yes. language can subtly frame
a story for us: lead us down the garden path—but then what? There’s actually an insidious
little rhetorical trick being used that we’re often blind to. Surprisingly. the trick is to
seemingly give up control of the narrative and let these framed ‘stories’ all end on a kind
of cliffhanger. which we then mentally fill in to determine the outcome.

“Persuasion by hinting’ might seem like a fuzzy leap of faith but modern advertising has
already trained us to resolve omitted information just the way we’re supposed to. Consider
constructions such as *20% more/quieter/cleaner/bigger/faster!” (than what?). These are
all comparatives that aren’t actually being compared to anything at all. They're
grammatically unresolved phrases and we're gently led to expect somerhing there. So we
fill-in-the-blank ourselves, within the frame of the new narratives we’ve been fed, in an act
that seems to be totally under our control. but isn’t.

Sub questions

Question Number : 51 Question Id : 7368154698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most suitable title for this passage is

Options:
,  How Language Works in Advertising

» » We Complete Advertisements, Driven by Words

- » Persuasion (sic!) by Hinting’
4 » Led by Our Nose by Words
Question Number : 52 Question Id : 7368154699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Consider the phrase ‘the linguistics of mass persuasion’. Linguistics is the
study of language. Keeping that in mind, this of the following will NOT
qualify for this phrase?

Options:
1 « A funeral oration

> # A Town-Hall debate
=z % A Sermon
4 » Speech in a political rally

Question Number : 53 Question Id : 7368154700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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None of us is definitive or have any clarity about what “20%

more/ quieter/ cleaner/ bigger /faster!” means in an

advertisement. But we:

Options:

, = Are ashamed of our ignorance and so don't open out to others about this.
-  Are so used to default-value-filling in our lives when we hear things.

- » Arent aware of this ‘clarity-mist’ or aren’t cynical about this.

Are ‘duped’ easily by images, symbols and the emotive language
4 » employed.
Question Number : 54 Question Id : 7368154701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

The writer declares, ‘The advertising world is rife with “authentic”
storytelling...” The word rife has among its many meanings these: rampant,
common, and endemic. Keeping in mind the writer's attitude to the use of

language in advertisements, ‘rife’ here suggests:
Options:
, = something nice, warm and pleasant.

-  something that the author would like to complain about.

- » something dark, evil and unpleasant.

4 » something normal in life.

Question Number : 55 Question Id : 7368154702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which other profession does the writer mention along with advertisements

that ‘uses’ language:
Options:
, = teaching

. » compering

- » blog-writing

4,  Ppolitics

Question Number : 56 Question Id : 7368154703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

‘It has to seem authentic..’ [fill in the blank choosing

one] ‘the sophistication of linguistics of mass persuasion.’
Options:
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1 % Is a continuation o

- % |s an instance of

5 » Is a proof of

4 + |s an addition to

Question Number : 57 Question Id : 7368154704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

“Persuasion by hinting” might seem like a fuzzy leap of faith..' observes
the writer. In and through this he is:

Options:

, » Mmaking a complaint

- » Mmaking an assertion
- » stating a position

4 « Opening up an argument

Question Number : 58 Question Id : 7368154705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Authentic’ story-telling in media involves
Options:

, = using ‘clever’ language

. » using realistic images, suggestive symbols and pleasant words

-  combining pictures, the contents of the pictures and ‘chosen’ words

, » choosing an interesting incident

Question Number : 59 Question Id : 7368154706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The writer uses the words ‘insidious’ and ‘trick’ and the idiom ‘lead us
down the garden path’. The idiom means:

Options:
, « dangling something attractive, lead us by our nose

> % promising, with an intent to cheat, a future heaven to cheat us ‘now’
- » show us beautiful plants, attractive flowers and such things in a garden

creating a magic show where tricks are performed, but here with evil

4 % Intentions

Question Number : 60 Question Id : 7368154707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose a one word substitute for ‘to resolve omitted information’.
Options:
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, = design

> « default

z % defect

4 % draw

Sub-Section Number: 2
Sub-Section Id: 736815139
Question Shuffling Allowed : No

Question Id : 7368154708 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Cuesticon Label | Comprehension

In the passage given below 10 words have been omitted and the blanks have been
numbered 11 to 20. Choose from the sets of four words against corresponding numbers the
one that would fill the blank accurately and appropriately:

If you’re an adult who regularly rides a bicycle, yvou might feel a tiny sense of moral
superiority about getting exercise and reducing your carbon footprint. But in the 1890s. the
moral discourse around bike riding was very different. Protestant authorities saw cycling

as a (11) threat to morality as cycling women often wore (12)
that were much like men’s pants and were (13) seen as indecent. Up until the
invention of the modern (14) bicycle in 1887, few women rode the high
wheel bicycles of the (15) generation. Bikes facilitated unchaperoned dates
too—even elopements. Another (16) against the cycling craze was that
people were spending their (17)—often the only work-free day of the
weel—on bike rides rather than at church. Cycling (18) to leave
preachers with congregations made up of only the sick and the (19).
Religious leaders were also worried about unhealthy. vicious 20) between

men and women. Yet, for the “muscular Christian™ movement that started late in the
nineteenth century. bicycles were also a useful technology. Like other sports. cycling was a
way to build courage. determination. and strength.

Sub questions

Question Number : 61 Question Id : 7368154709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:
Options:
1 % small
> % trivial
= significant

4 % hollow

Question Number : 62 Question Id : 7368154710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:
Options:
1 +« Dbloomers
5 % EOWDS

z % frocks

4 % dresses

Question Number : 63 Question Id : 7368154711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:
Options:
, = shortly

o> o Widely

5 % Dbarely

4 w nearly

Question Number : 64 Question Id : 7368154712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:
Options:
1 ® ‘low’

o % ‘high’

5 « safety’
4 % ‘free’

Question Number : 65 Question Id : 7368154713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:

Options:
1 % future

> % Ppresent

= % ancestors

e, previous

Question Number : 66 Question Id : 7368154714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Choose from t 1e sets of four words against corr espont g nuribers the one't at would

the blank accurately and appropriately:
Options:
, « charge

> % fault
- » lability
4 w danger

Question Number : 67 Question Id : 7368154715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the one that would fill

the blank accurately and appropriately:
Options:
, % holidays

-  Sundays
5 w Wweekdays
, w Fridays

Question Number : 68 Question Id : 7368154716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:

Options:
1 % banished
> % chanced

5 % exposed

4 « threatened

Question Number : 69 Question Id : 7368154717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the sets of four words against corresponding numbers the one that would fill
the blank accurately and appropriately:

Options:

, « clderly

~ % poor
= % unbelievers

4 # homeless

Question Number : 70 Question Id : 7368154718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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the blank accurately and appropriately:

Options:
1w competition

> % Struggle
- % Opposition

4 w lvalry

Question Id : 7368154708 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)
Juestion Label @ Comprehension

In the passage given below 10 words have been omitted and the blanks have been
numbered 11 to 20. Choose from the sets of four words against corresponding
numbers the one that would fill the blank accurately and approprately:

It you're an adult who regularly rides a bicycle, you might feel a tiny sense of moral
superiority about getting exercise and reducing your carbon footprint. But in the 1890s,
the moral discourse around bike nding was very different. Protestant authonties saw
cycling as a (11) threat to morality as cycling women often wore

(12) that were much like men's panis and were (13) seen as
indecent. Up uniil the invention of the modern (14) bicycle in 1887, few
women rode the high wheel bicycles of the (15) generation. Bikes
facilitated unchaperoned dates too—even elopements. Another (16)
against the cycling craze was that people were spending their (17
often the only work-free day of the week—on bike rides rather than at church. Cycling
(18) to leave preachers with congregations made up of only the sick
and the (19). Religious leaders were also worried about unhealthy,
VICIOUS (20} between men and women. Yet, for the “muscular Christian”
movement that started late in the nineteenth century, bicycles were also a useful
technology. Like other sporis, cycling was a way to build courage, determination, and
strength.

Sub questions

Question Number : 61 Question Id : 7368154709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the sets of four words against corresponding numbers the
one that would fill the blank accurately and appropriately:

Options:

1 &% small

- % ftrivial

-  Significant

4 % hollow

Question Number : 62 Question Id : 7368154710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and a Em riately:
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1 « bloomers
. % gowns

- % frocks

4 % dresses

Question Number : 63 Question Id : 7368154711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and appropriately:

Options:
, = shortly

-  Widely

- » barely

4 » hearly

Question Number : 64 Question Id : 7368154712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose from the sets of four words against corresponding numbers the
one that would fill the blank accurately and appropriately:

Options:

1 & low

5 % high’

. o safety

4 % ‘free’

Question Number : 65 Question Id : 7368154713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and appropriately:
Options:
1 & future

- = present

-z % ancestors
4,  Previous

Question Number : 66 Question Id : 7368154714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and appropriately:
visit this website studytosuccess.in



Options: Join Telegram More Update Note: All previous year Exam paper provides

,  Charge

- % fault
- » liability

, » danger

Question Number : 67 Question Id : 7368154715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the
one that would fill the blank accurately and appropriately:

Options:
, = holidays

-  Sundays

- » weekdays

4 » Fridays

Question Number : 68 Question Id : 7368154716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and appropriately:
Options:

1 # banished

> % chanced

- » €xposed

4 « threatened

Question Number : 69 Question Id : 7368154717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and appropriately:
Options:

|  elderly

- % poor
=z % unbelievers

4 % homeless

Question Number : 70 Question Id : 7368154718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose from the sets of four words against corresponding numbers the

one that would fill the blank accurately and a Emgriately:
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|« competition

. » struggle
- % Opposition

4 = rivalry

Sub-Section Number: 3
Sub-Section Id: 736815140
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368154719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given :

1. The third took his share of the stag as a withholding tax. saying "against a year of

famine!"

It is not as easy to get the lion's share nowadays as it used to be.

"T will take a third for your widow." said another, "for that is the law. even if you

have none"

4. The lion was with the stag hunted and killed. when three little foxes appeared on the
scene.

5. "I will take a third of the stag as a penalty.” said one. "for you have no hunter's
license.”

W

Options:

, % 13524
5 o 453,12
2 % 41235

4% 54321

Question Number : 71 Question Id : 7368154719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below is"a set o sentences, neither in a meaningful nor In a

coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given :

1. The third took his share of the stag as a withholding tax, saying
"against a year of famine!"

2.1t is not as easy to get the lion's share nowadays as it used to be.

3."l will take a third for your widow," said another, "for that is the law,
even if you have none"

4. The lion was with the stag hunted and killed, when three little foxes
appeared on the scene.

5." will take a third of the stag as a penalty,” said one, "for you have

no hunter's license."
Options:

,u T352:4
5 @ 45,312
.z 41235
oow BEE2

Question Number : 72 Question Id : 7368154720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 5. Identify the correct sequence of numbers from the
options given :

—_

"Where do you get that stuff?" asked the admiring weaver.

Then the weaver and the silkworm went their separate ways. for each thought the
other had insulted him

"Do you want to make something out of it?" inquired the silkworm. eagerly.

A word to the wise is not sufficient if it doesn't make any sense.

A weaver watched in wide-eyed wonder a silkworm spinning its cocoon in a white
mulberry tree.

b

L e

Options:

. W 51324
. x 5.3.2.14
o = 54321

4 % 53241
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a
coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given :

1. "Where do you get that stuff?" asked the admiring weaver.

2. Then the weaver and the silkworm went their separate ways, for
each thought the other had insulted him

3."Do you want to make something out of it?" inquired the silkworm,
eagerly.

4. A word to the wise is not sufficient if it doesn't make any sense.

5. A weaver watched in wide-eyed wonder a silkworm spinning its

cocoon in a white mulberry tree.

Options:

, ¢ 513,24
5 53214
wu EA324
o BB2A

Question Number : 73 Question Id : 7368154721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of 5 sentences, neither in a meaningful nor in a coherent sequence.
These sentences are numbered 1 to 3. Identify the correct sequence of numbers from the
options given :

1. The truth. thus. is that the plague may have never actually left Europe. mutating and

developing new strains.

Until now. many believed that these outbreaks occurred because the bacterium that

causes the disease was re-infroduced repeatedly via trade with China.

3. In the fourteenth century, it wiped out more than a quarter of the continent’s
population. resurged again in the 15th. 16th. and 17th centuries.

4. New information uncovered about these outbreaks by researchers seems to point to

a more haunting. mysterious truth.

The earliest outbreak of the plague in Europe was thought to be in Athens in 429-

431 BC. when it reportedly Killed a third of the city’s population.

[

th

Options:
. % 13524

, % 13542
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Question Number : 73 Question Id : 7368154721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of 5 sentences, neither in a meaningful nor in a

coherent sequence. These sentences are numbered 1 to 5. Identify the

correct sequence of numbers from the options given :

1. The truth, thus, is that the plague may have never actually left
Europe, mutating and developing new strains.

2. Until now, many believed that these outbreaks occurred because the
bacterium that causes the disease was re-introduced repeatedly via
trade with China.

3. In the fourteenth century, it wiped out more than a quarter of the
continent’s population, resurged again in the 15th, 16th, and 17th
centuries.

4. New information uncovered about these outbreaks by researchers
seems to point to a more haunting, mysterious truth.

5. The earliest outbreak of the plague in Europe was thought to be in
Athens in 429-431 BC, when it reportedly killed a third of the city's

population.

Options:

. » 1,35.24
5oz 13542
. v 5,324,
ow BIA23

Question Number : 74 Question Id : 7368154722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a famous one line. the words of which are given in groups. in a jumbled
manner. These words are numbered from 1. Identify the correct sequence of numbers from
the options given : {Make sure that the reordered sentence would appeal to the reader}:

Show business/uglv people/is/for/politics
1 2 3 4 S5
Options:
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Question Number : 74 Question Id : 7368154722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a famous one line, the words of which are given in

groups, in a jumbled manner. These words are numbered from 1. ldentify
the correct sequence of numbers from the options given : {Make sure that

the reordered sentence would appeal to the reader}:

Show business/ugly people/is/for/politics
1 2 3 4 O

Options:

. u 12345
5o BABZ
. v 53,142
oow ZABAE

Question Number : 75 Question Id : 7368154723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a famous one line. the words of which are given in groups. in a jumbled
manner. These words are numbered from 1. Identify the correct sequence of numbers from
the options given : {Make sure that the reordered sentence would appeal to the reader}:

of / geography/ God's way/ is/ teaching /Americans /war
1 2 3 4 5 6 7

Options:

1« 7:43,1,5.6,2

> # 2:4.3.1,56.7
3 & 74.3,1,6,52

4 # 2.3.4.5.6.7.1

Question Number : 75 Question Id : 7368154723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Given below IS a famous one ine, the words of which are given In

groups, in a jumbled manner. These words are numbered from 1. ldentify
the correct sequence of numbers from the options given : {Make sure that

the reordered sentence would appeal to the reader}:

of / geography/ God's way/ is/ teaching /Americans /war
1 2 3 4 o 6 ¥

Options:

¢ 74,3,156,2
. % 24,315,867
- » 7,431,652
. % 2,345,671

Question Number : 76 Question Id : 7368154724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected version of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which correct the
sentence completely:

Him turning the corner, the mountain was seen in its full gory.
Options:
, % He. seeing the mountain in its full glory. turned the corner.

-~ % Hewas turning the corner for the mountain was seen in its full glory.

-  Tuming the corner, he saw the mountain in its full glory.

4 % Ontuming the corner. he will see the mountain in its full glory.

Question Number : 76 Question Id : 7368154724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected version of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which correct the sentence completely:

Him turning the corner, the mountain was seen in its full gory.
Options:
, = HMe, seeing the mountain in its full glory, turned the corner.
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o R He was turning the corner for the mountain was seen in its full glory.

5 « lurning the corner, he saw the mountain in its full glory.

4 » On turning the corner, he will see the mountain in its full glory.

Question Number : 77 Question Id : 7368154725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected version of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which correct the
sentence completely:

Bradford councel washes its hands of 14 libraries after 'devastating' budget cuts.
Options:
, w Bradford councel washes its hands of 14 libraries after 'devastating’ budget cuts.

- % DBradford counsel washes its hands of 14 libraries after 'devastating’ budget cuts.
-  Bradford council washes its hands off 14 libraries after 'devastating’ budget cuts.

, % DBradford councel washes its hands of 14 libraries after 'devastated budget cuts.

Question Number : 77 Question Id : 7368154725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected version of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which correct the sentence completely:

Bradford councel washes its hands of 14 libraries after 'devastating’

budget cuts.
Options:
Bradford councel washes its hands of 14 libraries after 'devastating’

, = budget cuts.

Bradford counsel washes its hands of 14 libraries after 'devastating'

., » budget cuts.

Bradford council washes its hands off 14 libraries after 'devastating' budget
3 « Cuts.
Bradford councel washes its hands of 14 libraries after 'devastated budget

4 % cuts.
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Given below is an ungrammatical sentence and there are four options given, which offer
‘improved’ or corrected version of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which correct the
sentence completely:

George Osborne warns further cuts as 'storm cloud' gathers.
Options:
, « George Osbome warns of further cuts as 'storm clouds’ gather.

» % George Osborne warned of further cuts as 'storm cloud’ gathers.
5 % George Osbome warns further cuts as 'storm clouds' gather.

, % George Osbome wamns of further cuts as 'storm cloud' gathers.

Question Number : 78 Question Id : 7368154726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected version of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which correct the sentence completely:

George Osborne warns further cuts as 'storm cloud' gathers.
Options:
, « George Osbomne warns of further cuts as 'storm clouds' gather.

. » George Osborne warned of further cuts as 'storm cloud’ gathers.
- » George Osbome warns further cuts as 'storm clouds’ gather.

, » George Osbome warns of further cuts as 'storm cloud' gathers.

Question Number : 79 Question Id : 7368154727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected version of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which correct the
sentence completely:

Metaphors are way of thinking--and also wayvs of shaping thoughts of anothers.
Options:
, % Metaphors are way of thinking--and also ways of shaping the thoughts of others.

-  Metaphors are ways of thinking--and also ways of shaping the thoughts of others.
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= % Metaphcrs 31913 Ways 0{ thmﬂmg--and also way? of slnapmyg ) lougﬁts DI%’E e others

4, % Metaphors are the ways of thinking--and also ways of shaping the thoughts of the others

Question Number : 79 Question Id : 7368154727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected version of this sentence; note
that the improvement may range from grammar to usage to native-speaker
use. Choose the option which correct the sentence completely:

Metaphors are way of thinking--and also ways of shaping thoughts of

anothers.
Options:
Metaphors are way of thinking--and also ways of shaping the thoughts of

1 = others.
Metaphors are ways of thinking--and also ways of shaping the thoughts of
> « others.
Metaphors are ways of thinking--and also ways of shaping thoughts of
= % the others
Metaphors are the ways of thinking--and also ways of shaping the
4 » thoughts of the others

Question Number : 80 Question Id : 7368154728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical sentence and there are four options given. which offer
‘improved’ or corrected version of this sentence: note that the improvement may range
from grammar to usage to native-speaker use. Choose the option which correct the
sentence completely:

When the goings get tough, tough gets going.
Options:

, % When the going gets tough. tough get going.

-  When the going gets tough. the tough get going.
- % When the goings get tough. the tough gets going.

4 % When the going gets tough. tough gets going.

Question Number : 80 Question Id : 7368154728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 025 visit this website studytosuccess.in
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Given below 1S an ungrammatical sentence and there are four options

given, which offer ‘improved’ or corrected version of this sentence; note
that the improvement may range from grammar to usage to native-speaker

use. Choose the option which correct the sentence completely:

When the goings get tough, tough gets going.
Options:

, = When the going gets tough, tough get going.

. w When the going gets tough, the tough get going.
- » When the goings get tough, the tough gets going.

4% When the going gets tough, tough geis going.

Question Number : 81 Question Id : 7368154729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

He called her a taxi. {Rewrite without changing the meaning}
Options:
, w He called her. [as] “Taxi!™

> % He described her as a taxi

=z % He called a taxi to her.

4 + He called a taxi for her

Question Number : 81 Question Id : 7368154729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

He called her a taxi. {Rewrite without changing the meaning}
Options:
1 ® He called her, [as] “Taxil”

- # He described her as a taxi
-z % He called a taxi to her

4 « He called a taxi for her
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Question Number : 82 Question Id : 7368154730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

When Kalia becomes the King of Dolapur, Chotta Bheem will serve him. {Rewrite as
an imaginary conditional sentence}

Options:
, w» HadKalia become the King of Dolapur. Chotta Bheem would have served him

> % If Chotta Bheem were to serve him. Kalia would become the King of Dolapur

- 1 Kalia were to become the King of Dolapur, Chotta Bheem would serve him

, = IfKaliais the King of Dolapur. Chotta Bheem serves him.

Question Number : 82 Question Id : 7368154730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

When Kalia becomes the King of Dolapur, Chotta Bheem will serve

him. {Rewrite as an imaginary conditional sentence}
Options:
Had Kalia become the King of Dolapur, Chotta Bheem would have served

If Chotta Bheem were to serve him, Kalia would become the King of

., % Dolapur

If Kalia were to become the King of Dolapur, Chotta Bheem would serve
2 o him
, » If Kalia is the King of Dolapur, Chotta Bheem serves him.

Question Number : 83 Question Id : 7368154731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Given below is a Sentence which 1s to be transformed and rewtitten as mdicated m

brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

The shop was closed. The thieves entered the shop. The police were waiting for them.
{Combine into a single, simple sentence — add words if necessaary}

Options:
, w Finding the shop was closed. the thieves entered it and found the police inside.

-  Onentering the closed shop. the thieves found the police waiting for them.
- % The police were waiting for the thieves who would enter the closed shop.

4, % Asthe thieves entered the closed shop. they found the police waiting for them.

Question Number : 83 Question Id : 7368154731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

The shop was closed. The thieves entered the shop. The police were
waiting for them. {Combine into a single, simple sentence - add words

if necessaary}
Options:
Finding the shop was closed, the thieves entered it and found the police

1 % Inside.
On entering the closed shop, the thieves found the police waiting for
> « them.

- » The police were waiting for the thieves who would enter the closed shop.

As the thieves entered the closed shop, they found the police waiting for

4 % them.

Question Number : 84 Question Id : 7368154732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

As the twins grew out of their clothes. they also grew apart.

Options:
, % Asthe twins became distant, they also grew bigger.
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A% The twins became older. T E}'TOSI their mutial Closensss 100. paperp

2. v

- % Asthe twins became bigger. they became distant too.

4 % Asthe twins became bigger. they became less close to each other.

Question Number : 84 Question Id : 7368154732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in J/talics. Choose the appropriate ONE WORD

substitutes for the phrases and clauses Jitalicized.

As the twins grew out of their clothes, they also grew apart.
Options:
, = As the twins became distant, they also grew bigger.

- v As the twins became older, they lost their mutual closeness too.
- » As the twins became bigger, they became distant too.

4 » As the twins became bigger, they became less close to each other.

Question Number : 85 Question Id : 7368154733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

After putting up with a long rebellion. the military put it down violently.
Options:
, = After tolerating the long rebellion. the military suppressed it violently.

> w After accommodating the long rebellion, the military quashed it violently.
5 u Affer tolerating the long rebellion. the military quashed it violently.

4  After accommodating the long rebellion. the military suppressed it violently.

Question Number : 85 Question Id : 7368154733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in Jitalics. Choose the appropriate ONE WORD

substitutes for the phrases and clauses Jtalicized

After putting up with a long rebellion, the military put it down violently.

Opti :
prons visit this website studytosuccess.in
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| % Aﬁer tole era Ing tﬂe ﬁ::-ng rebellion, the military s}.’lppress ed it violently.

-, » After accommodating the long rebellion, the military quashed it violently.

- » After tolerating the long rebellion, the military quashed it violently.

4  After accommodating the long rebellion, the military suppressed it violently.

Question Number : 86 Question Id : 7368154734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is sentence which divided into four parts labelled a. b. c. and d. One of these
parts contains an error. Choose the part that has an error:

Temper is /so good a thing / that we should / ever lose it.
A B C D

Options:
1 & A

g_ﬁB
3 o C
4 % D

Question Number : 86 Question Id : 7368154734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is sentence which divided into four parts labelled a, b, ¢, and

d. One of these paris contains an error. Choose the part that has an

error.

Temper is /so good a thing / that we should / ever lose it.
A B C D

Options:

1.WA
> % B

3¢ C
4% D

Question Number : 87 Question Id : 7368154735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is sentence which divided into four parts labelled a. b. c. and d. One of these
parts contains an error. Choose the part that has an error:

He didn't say / goodbye / after / he hung up,
A B & D

Options: visit this website studytosuccess.in
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1.

E_WB

2 ¢ C
4. % D

Question Number : 87 Question Id : 7368154735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is sentence which divided into four parts labelled a, b, ¢, and
d. One of these parts contains an error. Choose the part that has an

error.

He didn't say / goodbye / after / he hung up,
A B C D

Options:

I_RA
2_%5

3¢ C
4 % D

Question Number : 88 Question Id : 7368154736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is sentence which divided into four parts labelled a, b. c. and d. One of these
parts contains an error. Choose the part that has an error:

Morality is simply/ the attitude we adapt / towards people /we personally dislike.
A B Lt D

Options:

1 ® A

2.« B

3. % C

4. % D

Question Number : 88 Question Id : 7368154736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is sentence which divided into four parts labelled a, b. c. and d. One of these
parts contains an error. Choose the part that has an error:

Morality is simply/ the attitude we adapt / towards people /we personally dislike.

A B C D
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Options: Join Telegram More Update Note: All previous year Exam paper provides

1_%#\
2. v B
S_WC
4% D

Question Number : 89 Question Id : 7368154737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given below.

Running into significant problems, they had to the drawing board.

Options:
1 % Go forward with

> « Go back to

- % Go along with

4 % Go out with

Question Number : 89 Question Id : 7368154737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given below.

Running into significant problems, they had to the

drawing board.
Options:
1 = Go forward with

> « @Go back to

- » Go along with

4 % Go out with

Question Number : 90 Question Id : 7368154738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given below

My doctor has been feeling the weather himself.

Options:
1 % Atad over
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- % A little above

= # A bit below
4 « A bit under

Question Number : 90 Question Id : 7368154738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given below

My doctor has been feeling __ the weather himself.

Options:
1 % A tad over

- # A little above
= % A bit below

4 « A bit under

Question Number : 91 Question Id : 7368154739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that will fill in the
blanks :

A man doesn't need advice, and a won't take it.
Options:
1 % honest: cheat

> % Clever: dull
- « Wise: fool
4 % rich: poor

Question Number : 91 Question Id : 7368154739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks :

A man doesn't need advice, and a won't take it.

Options:
, % honest; cheat

- % Clever; dull
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< WISE, TOO
3. ’

4 = rich; poor

Question Number : 92 Question Id : 7368154740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks :

It is better to be and growing than and rotten.
Options:
| « &een;ripe

- % Yyoung:old
5 % haive; wise

4 % short; tall

Question Number : 92 Question Id : 7368154740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks :

It is better to be and growing than and rotten.

Options:
|« green; ripe

. % Yyoung; old
- % haive; wise

4 % short; tall

Question Number : 93 Question Id : 7368154741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Influence
Options:

1« Power

> % Manipulate

5 » Authority

4 ® Pressure
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Question Number : 93 Question Id : 7368154741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Influence
Options:
1 « Power

. » Manipulate

- » Authority

4 % Pressure

Question Number : 94 Question Id : 7368154742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Obedience
Options:
1 #® Reverence

- % Obligation

5 % Agreement

4  Compliance

Question Number : 94 Question Id : 7368154742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Obedience
Options:
, # Reverence

. » Obligation
- » Agreement

4 w Compliance

Question Number : 95 Question Id : 7368154743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Blame [adjective]
Options:
1 Guilt

> % Fault
=z % Rebuke
4 % Criticism

Question Number : 95 Question Id : 7368154743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Blame [adjective]
Options:
1« Guilt

- % Fault
= # Rebuke
4 % Criticism

Question Number : 96 Question Id : 7368154744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

Unite
Options:

1w Separate
- % Smash
z % Detach
4 % Scaftter

Question Number : 96 Question Id : 7368154744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides
A key word |sggwen below. éhuose the word which indicates  the

contradictory or opposite meaning {antonym} of the key word:

Unite
Options:
|« Separate

- #% Smash
= # Detach

4 ® Scatter

Question Number : 97 Question Id : 7368154745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

Concorid
Options:
, % Disparity

> « Conflict

= % Friction

4 % Quarrel

Question Number : 97 Question Id : 7368154745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Concord

Options:

, = Disparity
> « Conflict
= % Friction

4 % Quarrel

Question Number : 98 Question Id : 7368154746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.
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1 % Churchwardén

-  Kindergarden

= % Overburden

4 % Unburden

Question Number : 98 Question Id : 7368154746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of four words. One of the four words is spelled
wrongly. Choose the word that has been spelled wrongly.

Options:

1 % Churchwarden

.  Kindergarden

= # Overburden

4 % Unburden

Question Number : 99 Question Id : 7368154747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:
, w Abolitionary

> % Accessary

o w Adversary

4  Ancilary

Question Number : 99 Question Id : 7368154747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled

wrongly. Choose the word that has been spelled wrongly.
Options:
, = Abolitionary

. » Accessary
- » Adversary

4 v Ancilary

Question Number : 100 Question Id : 7368154748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Given below is a Set of four words. Choose the word with the Correct spelling:

Options:

;= Microtecnique

> % Mistique

5  Oblique

, = Phiysique

Question Number : 100 Question Id : 7368154748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is a set of four words. Choose the word with the correct
spelling:

Options:

, = Microtecnique

., » Mistique

-  Oblique
, » Phiysique
General Intelligence

Section Id : 73681593
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 736815141
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7368154749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Find the area of shaded region.

A

Options:
1 % 34.23 unit

> % 25 unit
5 & 5V2 unit
4 « 12.5 unit

Question Number : 101 Question Id : 7368154749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS 8T &7 895 719 &1 |

Options:

. 34.23 Tgi=ie
1, o

. 25 gfeie
2. g

. 52 gfae
T W o
, v 125 T

Question Number : 102 Question Id : 7368154750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If volume of a spherical ball is 9160.884 cm?, what will be the radius of the ball?

Options:
1 « 19.30 cmm

>~ % 9cm
= #® 7lcm

4 % 17cm
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Question Number : 102 Question Id : 7368154750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e TF MR A F HATTSS 9160.884 ux TAY. 2, o 5w & By =
grefr?

Options:

v 19.30 T
5 % 9 T

s % 71 TA.

4 % 17 .7

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 103 Question Id : 7368154751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IfAis+. BisX. Cis-andD is /. then what will be the valueof (6 A5C 14D 7B 2)?

Options:

1 30
o W 14
T W 12

4 #® 18
Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 103 Question Id : 7368154751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TEA+Y B X FC TIARDYTE A (6ASC14DTBL) T A
T FE?
Options:
v 30
- % 14
z % 12

4 #® 18

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 104 Question Id : 7368154752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If sunflower is called filter, filter is called van, van is called egg and egg is called Laptop,
then what we can use as a transport medium?

Options:

1 Egg
' visit this website studytosuccess.in
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> % Filter

= % Sunflower

4 % Laptop

Question Number : 104 Question Id : 7368154752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AR TG FT eex FaoT, e 1 39 Feor, 37 F1 373 Far AW 34T F;
oTerT Feer, a X IEed & af W 9 sTA Y T 27

Options:

1.+ E i
> » fheex

3_%3 ™, 3

4 % oTET

Question Number : 105 Question Id : 7368154753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Compute the following:

4235+2234+9.4567+90.342+7.5=7
Options:
| « 6576.2987

5 % 55678.00345
5 % 94502234
4 % 99087.123

Question Number : 105 Question Id : 7368154753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T=fefaa & e w3
4235+2234+9.4567+90.342+7.5=7

Options:

1 « 6576.2987
> % 55678.09345
z % 9450.2234
4 % 99087.123

Question Number : 106 Question Id : 7368154754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Five girls are s‘1tt:1?1g 111 & TOW. Sepema is right of Ra_]lll’l and le?t ¥c~ Geeta. Angetg 15 sgﬁmg

left to Rajni. Arti is between Rajni and Aneeta. Arti is between Rajni and Aneeta. Who is
sitting immediate left to Arti?

Options:
1 ® Geeta

- % Seema
- = Rajni
4 « Aneeta

Question Number : 106 Question Id : 7368154754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9= a3Tar v 9fed # &8 g1 @A, & & I AT A F 9 98 2
AT, AT & G AR ST g HREL, AT 3R 3 F § 7 85 g1 Har
& TR HT FiaT a7 87

Options:

l_é.'égﬂ(_'rr

g_ﬂm

g_ﬁm?'ﬁ'

4_.y3-1?'ﬂ(_-FT

Question Number : 107 Question Id : 7368154755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Compute the following:
89/6+56 x 9-32

Options:

1 % 453

> % 678.44
5 « 486.83
4 % 345.112

Question Number : 107 Question Id : 7368154755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T & e w13
89/6+56x9-32

Options:

| % 453
. % 678.44
5« 486.83
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g 345.11

Question Number : 108 Question Id : 7368154756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute the following:

890+123-88=234+............7134
Options:
1 ® 57

A

i
=}

o % 45
4
5

LN
h

z ®

L
|

4 &

Question Number : 108 Question Id : 7368154756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
=T & e =3
890+123-88=234+.........+134

Options:

, % 575
. « 456
- % 345
. v 557

Question Number : 109 Question Id : 7368154757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Compute the following:
(111)*H(999)=?

Options:
1« 1010322

5 % 9906654
2 % 8989796
4 % 8982846

Question Number : 109 Question Id : 7368154757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T=fofa & e w13
(111)% + (999)%=7

Options:

. v 1010322
. « 9906654
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4 % 8982846

Question Number : 110 Question Id : 7368154758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Principal of the Girl's college banned the entry of boys in the college campus. What
might be a possible cause for such a decision:

Options:
, % Girls competing with the boys in every field
» % [leachers hate the boys

-  Growth in Eve Teasing Incidents

, % Areaofcollege campus is small

Question Number : 110 Question Id : 7368154758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FATATAT F JTATIY = Frolsl IET H T5H & HH 9T U =0 a1 59
oo & for gafag Frur Far @ar =nfge?

Options:

.« B &9 # wsfohar fr a5 & ary wfaeqer
. TRNeTR TSHT ¥ AT T g
3_¢?m§.’ﬁm&ﬁﬁqﬁ‘

L % ot T GRET OleT §

Question Number : 111 Question Id : 7368154759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Collector gave the order of banning DI's after 10 p.m. He might have taken such a
decision because:

Options:

, = He personally feels that DI's are very Joud

- It affects the personal lives of people in the society

- % It causes air pollution

4 % It causes sound pollution

Question Number : 111 Question Id : 7368154759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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FeorgeT 7 10:00 5 &+ I 2. F. 9T YA T HT HEA AT 394 =7
TE & AT & O F31 FRUT @ T 27

Options:

i afFaeTa JiT 9T AT ATAT %ﬁ:éﬁragd =TTeT a1 3T 2l
. » TE FAST H dAFl & @S e & ganfad aar g

_ x TOE I TEHUT B &

, « $O 3 TEuOT e ¥

Question Number : 112 Question Id : 7368154760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
One of your neighbour is playing loud music. It is disturbing you in your work. What will
you do?

Options:
, w Lethim play. He is playing it in his home and we are no one to show agitation

-~ % Go and beat him up

= « Go and tell him to slow down the volume as it disturbs
, = Report to the police

Question Number : 112 Question Id : 7368154760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HTIeRT T TEIET ot HTaTS H Holld §F @7 g1 TG 379! 1A il A TXemer
SaT FT T | AT AT FE?

Options:

% 3Y T & 7 A9A W H T @ & 3R EF 30 A a1 FIS AL @
> ® 3 FART AR

5 v 30 A FH A F T FEr

i gford & RIE F&r

Question Number : 113 Question Id : 7368154761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In one of vour friend's marriage. drinking water got exhausted. What will you do?

Options:
. « Call the manager and tell him to arrange it quickly

> % You yourself will go as you think that manager is lazy
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5 % Youwon't do anything as 1ts not your mairiage

, % Tellyour friend who is getting married to arrange water

Question Number : 113 Question Id : 7368154761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
H9eF SIET FT oMEr H NI T 9T FATST & Aam &1 3T FAT FET7

Options:

l_wﬂﬁﬁﬂ'aﬁgmw IY FAcdl U ITAT ST T80T F{d Fl Fegar

o % HTT TET & AR FARE o o & R e e ¥

. AT TT G L I AT A A T E

. % HIA GIES S & AT T TTEAT FI FI Feel fAdenr Mar ar Wl g

Question Number : 114 Question Id : 7368154762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You failed in one of the subjects in the Board exams. Everyone is making fun of you.
What will you do?
Options:
. « 1Ty hard again fo get it clear

- » Tell your parents that you won't study as your friends make fun of you

5 % Youwill lodge a complaint in the police station against your friends

4 % Youwill never tell your parents about this

Question Number : 114 Question Id : 7368154762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T &1S T T F 1 ST A edior @ AT B AT AASF 337 W &
T FIAT FLE7
Options:

| v O Fea garg wE

HIA AR F Fe91 & A9 a9 F TR AAF 386 F FROT H {7
> % Hﬁﬁquﬁﬂ
3 % HT 39 AT & @ens 9w & Rieaa g #8)

AT SH A A 39S A Far F F 7f aareer

4

Question Number : 115 Question Id : 7368154763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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You came up firstin the office. The office 15 dirty. Ritiat will 1¥011 do? paperp
Options:
, % Take abroom and clean it by yourself

-  Call the sweeper. scold him for not doing his work on time and tell him to fix it soon.
- % Leteveryone arrive at the office and let it be cleaned by them

4 % Letit be as it is.

Question Number : 115 Question Id : 7368154763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HT FAGT H FI9UH A g| FTAAT e g1 3T 4T FET?

Options:
i 1S o T =T & % S0

TS FHANT & GHT T 9T FH FAal e W 3§ ST 3T 37 Taeer &
, o oG & 38 & Hi|

_ « TS FAIRE B FEET H A A &7 AT W FIE  HE FLETCET
L w I F AW @A 3

Question Number : 116 Question Id : 7368154764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: The Chancellor said that the Written examination system must be changed to
the Online MCQ examination in order to check the real caliber of the students.
Argument 1: There should be no examinations

Argument 2; There is no need to alter examination system

Options:
, = Argument 1 1s strong

5 % Argument 2 is strong
5 » Boththe Arguments are strong

4  Neither of the Arguments are strong

Question Number : 116 Question Id : 7368154764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FUT  MHR 7 FgT & T lem gumelr F1 daasa MCQ oisT #
aRafad &ar J=r e Sed ot &1 885 A gei|

I 1 @éqﬂwaﬁraﬁmﬂﬁv

T 2 : geT qumelr H IR FiE Fr RS FTRT Adr &

Options:
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3#2:4333%
3l 7 HegT £
» IS TEF AT T &

Question Number : 117 Question Id ;: 7368154765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: Supreme Court ordered the state government to stay away from Central.

government funded institutes

Argument 1: There are no State government institutes

Argument 2: State government is trying to misuse the Central Government Funded
Institutes

Options:
L ® Argument 1 1s strong

.
o  Argument 2 is strong
- » DBoththe Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 117 Question Id : 7368154765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

W:Wﬁ%ﬁﬁ?ﬂ?ﬁ%ﬁ FFRN AR et geumar & g7

e F1 e o &

T 1: T=T BN &r Hie ff gea= 740 &

qF 2:TsT TR, g WHR GaRT fHeaulied HEATer &1 goaareT Hid &
SIS FT ET &

Options:

o 1 AT &
, T 2 AT &
. Gl G Ao §
, » P8 3 TF FAoEg A ¢

Question Number : 118 Question Id : 7368154766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Statement: Until T?IE s'?lmol achlgves social equa H}'I?smc!ies%g’.’ve 1o meamﬂg? P

Argument 1: Social equality amongst students in schools is must for effective learning
Argument 2: There is no relation between social equality and studies in students
Options:

|« Argument 1 1s strong

5 #® Argument 2 is strong
- » Boththe Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 118 Question Id : 7368154766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FAT : FT TF THol TANAF FHAA el 9T AT, IS8 HT F's 7T 76T &
ek 1 : w77 fRretor & AT Thal # om0 & I @AAS AT T80 8
TF 2 ; GTATeE AT AT o & 2R F T F1E GO F4 8

Options:

o TR AT E

- oF 2 AT &
. » 3 T
bl FIs o TF AT 6l &

Question Number : 119 Question Id : 7368154767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Statement: The new Eve teasing law is been welcomed by every section of the society.
Argument 1: Eve Teasing has become a disgrace to the society in the past few days
Argument 2: The new law is very efficient in controlling eve teasing incidents
Options:

L ® Argument 1 1s strong

5 #® Argument 2 is strong

-  Both the Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 119 Question Id : 7368154767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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FUT. FAST & gL 91 o OSOIS & FeH aﬂmﬂgﬁmw%

aF 1 :ﬁﬁgﬂﬁﬁﬁﬁﬁgm#ﬁwmaﬁm%
T 2 : AT Fege OFOIs 1 ueasl F AT e F 9ga & wh

Options:

| TF 1 HSEA R

s ow O 2T S

. O FF HeEd ¥

, u P T AT G E

Question Number : 120 Question Id : 7368154768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Statement: NCERT books have been made compulsory in the schools
Argument 1: Students are forced to study.
Argument 2: NCERT books are not efficient to match the level of competition in the
school
Options:
L= Argument 1 is strong

5 % Argument 2 is strong

- % Boththe Arguments are strong

4  Neither of the Arguments are strong

Question Number : 120 Question Id : 7368154768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fua : Taegmerar # NCERT &1 framet & sifaay ax Tar g
T 1 : BT F TEE FA F [T AFGY foFar 5@ 8
& 2: NCERT # forame fezmeral # sfodi@far & &R &q 3R a8 ¢

Options:
i a% 1 A9 &

, x T 2 Fold &
. Gl G Ao §
, v P T AT T E

Question Number : 121 Question Id : 7368154769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Ashish's dgugite?-m- aw 15 the Mother-m-law of Seema. WHAt 15 paperp

Seema's husband to Ashish?
Options:
1 ® Son

> o Grandson
= % DBrother
4 % Father

Question Number : 121 Question Id : 7368154769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

¥l T 7g WA FF 7 g1 @ F 9fa w1 oamhiw F Far fear 22
Options:

G

5> of ATar

= R g:né-

g ﬁl_'ﬂ-

Question Number : 122 Question Id : 7368154770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What will be the relation of vour son-in-law with your daughter-in-law’s husband's
mother?

Options:
1 ® Son

> o Son-in-law
z % Brother-in-law
4 % Brother

Question Number : 122 Question Id : 7368154770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
mﬁ:a’mmﬂsmﬁagxqﬁﬁﬁ#wﬁ%mm
Options:

, ® 9T

> « GG

5 ® G

4.%33;'%—

Question Number : 123 Question Id : 7368154771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Jabali's only son is the husband of Mohini's sister. What will be the relation of Mohini's
brother with the son of Jabali's son:

Options:
1 % Paternal Uncle

> « Maternal Uncle
%z % Brother
4 % Brother-mn-law

Question Number : 123 Question 1d : 7368154771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT & Sehellg deT Alfgar H g8 1 9fa &1 96T F §¢ F @y Az +
S 7 frear = gem?

Options:
1 ® =T

o «f HIHA

3_53334-'%-
4_%3?'?[

Question Number : 124 Question Id : 7368154772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Pradeep's brother-in-law has two sons. The two sons have a sister named Astha. Who is
Pradeep to Astha?

Options:
1 « Paternal Uncle

> % Maternal Uncle
= % Grandfather

4 % Cannot be predicted

Question Number : 124 Question Id : 7368154772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9EIT & X & ar 9 &1 aiAr 92T & 3TEAT JTH Fr U 987 g1 TEIT TET +
BT FiT 872

Options:
1 & ==l

o #% HIAT
3_&33@'
4 % ST FEN ST HehT
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Question Number : 125 Question Id : 7368154773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Animesh is the brother of the mother of Arundhati's daughter. Who is Arundhati to
Animesh?

Options:

1 # Niece

> o Sister

= % Sister-in-law
4 % Mother

Question Number : 125 Question Id : 7368154773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HFAY, 3vufd & F& & 71 77 92 g FvuE, Ay F Tw w9 32

Options:

| % ST
2 v T
3 % Toiq

4.333:”-

Question Number : 126 Question Id : 7368154774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:
1 « Chess

- % Golf
3 # Cricket
4 % Football

Question Number : 126 Question Id : 7368154774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

a3 v Perent # ¥ Jwsw J19 FU
Options:

1 ¢ i)

o B ;“'t"'.q'-r

. Thadlel
4 ® O
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which one of following keywords/phrases differ from the others in the given options:

Options:
1 ® ABC

> % BDF
5 % CFI
4 « DGIJ

Question Number : 127 Question Id ;: 7368154775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
2 a7T Reredt # & FIF AT reg/ATFAT THA H AT 82

Options:

1 ®= ABC
-~ % BDF
z % CFI

4 « DGJ

Question Number : 128 Question Id : 7368154776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the given alternatives. one of the numbers is dissimilar from the other given alternatives.
Find the one which is dissimilar:

Options:

, ® 963

5 o 421

s ® 321

4 ® 642

Question Number : 128 Question Id : 7368154776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
& 717 Reeat &, U TEW 3T BFer § 30T §, 39 TEAT FT TaT o]

Options:

| % 963
- o 421
s x 321
L % 642

Question Number : 129 Question 1d : 7368154777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Find the odd one dut from the given alternatives:

Options:
1 % Cub

- % Kiften
- % Puppy
4 « Cow

Question Number : 129 Question Id : 7368154777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

faar oo faoet # @ vy 79 F1
Options:

| % 9Mdeh

=% EEIEY

T B ia@"a|

4. T

Question Number : 130 Question Id : 7368154778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options?

Options:
; % DFI

o B ACF
3 « CFI
4 # BDG

Question Number : 130 Question Id : 7368154778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TaRf@a & ¥ #i9 @1 wee/EEay e v Feed # g # e &7
Options:

. % DFI

> % ACF

2 v CFI

. « BDG

Question Number : 131 Question Id : 7368154779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in



?_m Telegram I\{Iore Update Note: A fl previous ye r Exam paper provides
Select a figure anmngst the Aﬂsu er Figures which will continiie the same series as

established by the three Problem Figures:

% Q A [ | » E’q
x X (@]

&

Options:
1 ® 1

> o 2
3_%3
4 % 4

Question Number : 131 Question Id : 7368154779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

feFr o1v et # & 37 apfa g S I FAEIAT gaRT Tl A
ST TS

X ):0& Dﬁﬂ ? % DK pq
Ela{} A % Dﬂ(} 4 A A

| i

Options:
1 & 1

> 2
3 % 3

4 % 4

Question Number : 132 Question Id : 7368154780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct figure:

0\ O] (7

Options:
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Question Number : 132 Question Id : 7368154780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HET A T

AR

Options:

s
E.WD
-,

Question Number : 133 Question Id : 7368154781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures:

“H" Pales 1||I\| |“i! ,frl‘|

|I“|

Options:
1. %

| B

o W

T R

—

4 ®

Question Number : 133 Question Id : 7368154781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e av Reredt # @ a7 3gpla I S d= FB= @R v s@er SRy @
TG

Options: visit this website studytosuccess.in
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1. %

2 v 3
3_%4

g4 % 1

Question Number : 134 Question Id ;: 7368154782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the incorrect figure from the set of figures.

I |22 ¥

() (8) (c) (D)

Options:
1 ® B

2.%':
S_WD

4. ¢ A

Question Number : 134 Question Id : 7368154782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HFAT & T H ¥ Tod HFid A9 H

Y22 |3

(A) (8) (c) (D)
Options:

1 *® B
o W C
T W D

4 A

Question Number : 135 Question Id ;: 7368154783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

visit this website studytosuccess.in



J?in Telegram More Update Note: All previous year Exam paper provides
Choose the correct figure.

NOISIE?

Options:
1. ¢ A

E_QP

E_WQ

4 % T

Question Number : 135 Question Id ;: 7368154783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TE HF T

N\ ?

Options:
1 ¢ A

E.WP
3_5:%':]
4 % T

Question Number : 136 Question Id : 7368154784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find out the missing term.
3,5,12.20.48.80,...........,320

Options:
; % 200

5 o 182
s % 120
4 % 348

Question Number : 136 Question Id : 7368154784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rea 9g = +&
3,5,12,20,48,80,_ 320
Options:

, % 200
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e

s % 120
L % 348

Question Number : 137 Question 1d : 7368154785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing term.
I 17 SRR, 1

Options:
, ® 328

5 % 345
5 & 530
4 % 443

Question Number : 137 Question Id : 7368154785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rea 92 7T &1
2.2.5.23 280298

Options:

, % 328
, % 345
5 « 530
. 443

Question Number : 138 Question Id : 7368154786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing term.

MM 130
Options:

o R 60
T W 50
4 % 100

Question Number : 138 Question Id : 7368154786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rea 92 7T &1
2,10,30, , 130
Options:

visit this website studytosuccess.in



E:?Igloin Telegram More Update Note: All previous year Exam paper provides
1. ¢

o B 50‘
T ¥ 50‘
4 % 100

Question Number : 139 Question Id : 7368154787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing term.

128 s 20
Options:
1 & 13

o W 12
T W 11
4« 10

Question Number : 139 Question Id : 7368154787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Rea ag 79 &4
1.2.5. 17,26

Options:

1 ® 13
o B 12
T B 11

4« 10

Question Number : 140 Question Id : 7368154788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing term.

i P A S
Options:
1 & 3

2.9
T W 11
4 ® 10

Question Number : 140 Question Id : 7368154788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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qc FATd &
3,2,5,4,7.6,
Options:
1 #® 8-
>« 9
=z R 11
g 10‘

Question Number : 141 Question Id : 7368154789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the area of the given figure.

10 em

Options:
1 # 43.88 cm?

> o 36.28 cm?
= % 77.8 cm?
4 % 123.98 cm?

Question Number : 141 Question Id : 7368154789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

&1 7TF HFS FT TR AT FI:

Flelap]

& g
leom
Seem

Options:

. % 43.88 T T
.« 36.28 T WA
2 % 77.8 T WA

4 = 123.98 T TAL
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

88 cm® of gold has converted into a wire of 2 mumn diameter. What will be the length of the
wire?
Options:

1 ®% 34m

> % 44m
= o 28m
4 % 38m

Question Number : 142 Question Id : 7368154790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

88 U TH. T Fr 2 A =urw e Y e ar F giEfaa &ar =rar 2
ax Fr Fas e gefe

Options:

;% 34 AT
> % 44
5 28 &
4 % 38 AT

Question Number : 143 Question Id : 7368154791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If slant height of a cone 1s 20 m and height is 16 m. what will be the area of its curved
surface?

Options:

1« 240 T m?

- % 140 mm?
= #® 196 mm?
4 % 32mm?

Question Number : 143 Question Id : 7368154791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofg v o #Fr oS =R (FTE &@13e) 20 Hiey R =S 16 Aex g, A

SH I Tdg &1 &IThol TohdaT &e?
Options:

| v 240 w T A
> % 140 m F37 AY.
- % 196 m 9T AY.
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4 % 342

Question Number : 144 Question 1d : 7368154792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
It PUZZLE is denoted as RWBBNG then ARMATURE will be denoted as

Options:
i ¢ CTOCVWG

. ® CTMNVWG
- % CRDEVFG
4 % TTRDESVG

Question Number : 144 Question Id : 7368154792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e PUZZLE st RWBBNG or@r mar %’, ar ARMATURE #f TFe s ©
or@r ArTe?

Options:

. v CTOCVWG
> » CTMNVWG
- » CRDEVFG

. = TTRDESVG

Question Number : 145 Question Id : 7368154793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If FIRE is denoted as GHSD then MANGO will be denoted as

Options:
; ® NNPOE

> % RFDSE
s % UTSER
4 « NYOFP

Question Number : 145 Question Id : 7368154793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I FIRE #r GHSD @ =mar &, ar MANGO = &8 g ¥ @r e
Options:

. %= NNPOE
., % RFDSE
- = UTSER
. v NYOFP
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Your client is very irregular in payments of your projects. What will you do
Options:
1 % Letitbe.

> % Leave the project
- % Go and beat him up

4 Ask to the client about the reasons and tell hum about its consequences

Question Number : 146 Question Id : 7368154794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
m%mmﬁ#wﬁ@mﬁ%lmmw
Options:

1.8 gﬁﬂﬁﬂ-ﬁﬁ
o # ‘:Iﬁ'ﬂbﬁl?ﬂﬁgéﬂ'
3 ® SR 3H ALET

4._Jwﬂﬁ‘#mﬁmﬂqﬁam 38S ROTAT F I H 3T FameT

Question Number : 147 Question Id : 7368154795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing term of the series.
130435378, .. i 23 20T

Options:
;% 180

> % 201
5 o 18T
4 % 196

Question Number : 147 Question Id : 7368154795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e g 79+
130,135,178, 234,247

Options:

% 180
, % 201
3« 187
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g

Question Number : 148 Question Id : 7368154796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing term of the series.
12624.......,720

Options:
1 & T8

o W 48
2 % 124
i w120

Question Number : 148 Question Id : 7368154796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HEger H o g=ar 99 F:4
1.2.6.24, 120

Options:

1 & 78
> % 48
=z % 124
4« 120

Question Number : 149 Question Id : 7368154797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the value of A?

AC+4567=0087
Options:

5 % 34.67
5 % 44.32
4 % 89.07

Question Number : 149 Question Id : 7368154797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A FT AT 79 FI°?
A*+4567=9987

Options:

| & 7382
> % 34.67
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z ® 4 :

. % 89.07

Question Number : 150 Question Id : 7368154798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If quotient is 345, divisor is 8876 and remainder is 9 then what will be the dividend?

Options:
. ® 4500923

5 306222
5 % 7896654
4 % 9860002

Question Number : 150 Question Id : 7368154798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TTE ARTRA 345 g, eI 8876 & 3T 9w 9 § aT wwsqrer 47 em?

Options:

, % 4500923

- « 3062229

5 % 7896654

4 % 9860002

GeTeral Awarensss

Section Id : 73681594
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 736815142
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 7368154799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which article of Indian Constitution gives special status to the state of Jammu & Kashmir?
Options:
1 % Article 254
visit this website studytosuccess.in
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~ # Article 301

= % Article 202
4 « Article 370

Question Number : 151 Question Id : 7368154799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT FiaeTT & 58 #g=te 7 F7A U9 #AR T=7 # 39w & vee
B arar 22

Options:

|, ¥ 254
_ o 0 301
| o FIOE 202
, » F0E 370

Question Number : 152 Question Id : 7368154800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

44™ Amendment act of Indian constitution deleted which one of the following rights?
Options:

, w Right against exploitation

» % Right to speak

-  Right to property

, % Right to information

Question Number : 152 Question Id : 7368154800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST Tiaems & 447 W = fofafas # § 39 ¥ 30Fr # g6 g
FT T &2

Options:

|« oOT ¥ P aER

Question Number : 153 Question Id : 7368154801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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The constifution of India was adc:ptecl by the constituent assemblv in the }egu pere

Options:
1 ® 1950

o 1949
3 % 1948
4 B 1947

Question Number : 153 Question Id : 7368154801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ST e 29T 8RS F S & Ty I & 9arar T ar

Options:

1 % 1950

» 1949
= % 1948
4 u 1947

Question Number : 154 Question 1d : 7368154802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Panchayat Raj in rural areas and Municipality in urban areas were introduced by
which amendment acts of Indian Constitution?

Options:

| o 73 & 74t
> % 451 & 46
3 % 50t & 51

4 % 231 & 24t

Question Number : 154 Question Id : 7368154802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
IRT T F FE gutus ZanT T &S F g=aar TS J9T gl et
H Je-Taew sfafaTs Jeor Far =r o

Options:
| v 7337 TF 74aT

> % 453 TF 46a1
- % 5037 v 51ar
4 % 2397 TF 244r

Question Number : 155 Question Id : 7368154803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who drafted the preamble of Indian Constitution?
Options:
1 « Jawaharlal Nehru

> % Dr.B.R.Ambedkar

- % Sarvepalli Radhakrishnan

4 % Lal Bahadur Shastri

Question Number : 155 Question Id : 7368154803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ST Figara T g= g & FEa gwig Far ar?

Options:

Question Number : 156 Question Id : 7368154804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Grammy Awards are given off for excellence in?

Options:
1 % Cricket

> « Music
= % Literature
, » Painting

Question Number : 156 Question Id : 7368154804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT EFR RE 8T 7 3cFtedr & T yew e S 27

Options:

, u Tohehe
2.JW
5 % TIEH
4.$$'|-_£l'=|ih_olT

Question Number : 157 Question Id : 7368154805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25 visit this website studytosuccess.in
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Who among the f‘gﬁcwmg 1‘ecenpe International Gz?nc 1Peac¥ Prize? paperp

Options:
1 % Dalai Lama

- % Mother Teresa
= « Nelson Mandela

4 % Barrack Obama

Question Number : 157 Question Id : 7368154805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e & & &7 & seawrsdy - ol aify R faar o 27

Options:

| w Golg WA
- % HEY TLET
S.Mmm
& R HIETAT

Question Number : 158 Question Id : 7368154806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following is the youngest recipient of Bharat Ratna Award?

Options:
1 % Malala

- % C.Rajagopalchari
= % Lal Bahadur shastri
4 « Sachin Tendulkar

Question Number : 158 Question Id : 7368154806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e 7 & 50 790 &7 3 # 91 T PR § §FATaAd foha
AT §?

Options:
1. % Helld

o % @I TSR
mwamﬁi’r

o %

4__Jﬂﬁmﬁﬁﬁw

Question Number : 159 Question Id : 7368154807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who is the first recipient of Indira Gandhi peace prize?
Options:

,  Rajiv Gandhi

- % Mother Teresa

= % Mikhail Gorbachev

4 % Nelson Mandela

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 159 Question Id : 7368154807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FagH gfear amedr enfy qreem fadr femm amm 272
Options:

| v TS e

- % HEY TLET

. . P ST
, ® SoHd Hsel

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 160 Question Id : 7368154808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is not an award related to Sports and Games?
Options:

1« Ashok Chakra Award

-~ % Dhronacharya Award

- » Arjuna Award

4 % Dhyanchand Award

Question Number : 160 Question Id : 7368154808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frafafed # ¥ #i9 T [EFR, FI1 07 TF F Toatewd 741 87
Options:

3AF Th TEFR

1. ¢

LY [

alVIT== "__i"H-ﬁ'rH

> R

4
5 % 3-|~:‘r|:r[ "-!J*H-GI‘!H

4% wdlrziog ‘g{{-ﬁ'ﬁl*{
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Question Number : 161 Question Id : 7368154809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the author of the book ‘DEV DAS’?
Options:

, + Sarat Chandra Chatterjee

> % Khushwant Singh

5 % R.K Narayanan

4, % Satyajit Ray

Question Number : 161 Question Id : 7368154809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TIEH TEIF F AGF i g7

Options:

| v T Teg FESt

G gEa g

5 % AR, AIOTH
g4 mt

Question Number : 162 Question 1d : 7368154810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HAAET [ F oGF Fi 82

Options:

fsor orAT
1 % >

> B m
GEEICAE:]

4 ® O

Question Number : 162 Question Id : 7368154810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the author of the book ‘ Arthashastra’?
Options:

1 % Vishnu Sharma

- % Kalidas

5  Kautilya

4 % Tulsidas
' visit this website studytosuccess.in
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Question Number : 163 Question Id : 7368154811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who wrote the famous book ‘Anandmath®?
Options:

1 % Sarat Chandra

- % Lal Bahadur Shastri
= % Vishnu Sharma
4  Bankim Chandra Chattopadhyay

Question Number : 163 Question 1d : 7368154811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Heeg AS ATHF IS [EI+ & oW@F Hid 2

Options:

1 ® HId =g
el SEIgT AE

o ®

L, v FhETeg T

Question Number : 164 Question Id : 7368154812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which former Prime Minister of India translated the famous Telugu book “Veyi Padagalu’
with the name ‘SAHASRA PHAN'?

Options:
1 % Dewe Gowda

5 ® Rajiv Gandhi
= « P.V.Narasimha Rao
, = Atfal Bihari Vajpayee

Question Number : 164 Question Id : 7368154812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fld ¥ T ARAT TUHAAN F TS5 UG AHF IO IAA JEIF FHOHEH
BUT ATH H e ar?

Options:
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- o WA e 1=

, » Hoo TEgN arsTodT

Question Number : 165 Question Id : 7368154813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The famous book “WINGS OF FIRE" is written by

Options:
1« Abdul Kalam

> % Atfal Bihari Vajpayee
5 % Kasturi Rangan

4 % J.C.DBose

Question Number : 165 Question Id : 7368154813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

7w 3% BT JAHF TS TFdF & AEF Fie g7
Options:

; 3164:'301 ehodl e

1. e

o % 3o fagrdy I
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Question Number : 166 Question Id : 7368154814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In which Indian State the festival ‘Chandani Padva’ is celebrated?
Options:

1 ® Assam

o>  Gujarat

= % Maharashtra

4 % Chattisgarh

Question Number : 166 Question Id : 7368154814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9T & &8 U0 H ‘ST 94T ATHF 3c8d HATIT AT 87
Options:
1 ® 3-178?1

2o 3

visit this website studytosuccess.in



Hg_‘gliﬂ_gelegram More Update Note: All previous year Exam paper provides
=z ®
4 % OcdlHTe

Question Number : 167 Question Id : 7368154815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From which Indian State ‘Sattriya’ dance is originated?

Options:
1 « Assam
> % Kerala

- » Rajasthan

4 % Goa

Question Number : 167 Question Id : 7368154815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
W#mmﬁ'm'mmmgm??
Options:
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Question Number : 168 Question Id ;: 7368154816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The harvest festival of Indian State Punjab is called?

Options:
1 % Basant Panchami
- « Lohri

5 % Pongal

4 % GudiPadva

Question Number : 168 Question Id : 7368154816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

AT & 9T T=T H BT 3009 & F4T Fgd 87
Options:

2.V e
T W W
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Question Number : 169 Question Id : 7368154817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In terms of Indian politics *“MLC" stands for?

Options:
, % Multi Legislative Counsellor

- » Member of Legislative Cabinet

=z % Member of Law Council

4  Member of Legislative Council

Question Number : 169 Question Id : 7368154817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST T H TH.UA.OT e &7 32T &7 272

Options:

i 9g Rrua suetes (7l Al FEaer)
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Question Number : 170 Question Id : 7368154818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In case of a ‘tie’ between two contestants in general elections. who has the authority to

break the tie?

Options:

, % Chief Justice of Supreme Court
> % Prime Minister

= « President

4 % Governor of the State

Question Number : 170 Question Id : 7368154818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HIH FaAEr F & IFEACERT & d awedr B Pufy #@ gaEed = w7t
o arm &2

Options:
W
Tai=d #q1ared & qET =ararefTer

1 %
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Question Number : 171 Question Id : 7368154819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who acts as a Chancellor for State universities?
Options:

1« Governor

- % High Court Judge

3 % Chief Minister
4 % Education Minister

Question Number : 171 Question Id : 7368154819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fafofea & ¥ i - =7 Reafegeal + Farfnfa & gfier T 2

Options:

1 T4l
. 3=9 OIS = F:Imﬂﬁ-‘f

TETHAT

=z ® 3

4 % TRreTTEAT

pat

Question Number : 172 Question 1d : 7368154820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the longest serving Chief Minister for an Indian State?
Options:
, % Mamta Banerjee

- % Sucheta Kriplani

-  JyotiBasu

4 % Mulayam Singh Yadav

Question Number : 172 Question Id : 7368154820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SRd & fFE U5 # AEAN 9¢ W HH 7 AT OF FiT FAT FT 87

Options:

% FATGT ST
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Question Number : 173 Question 1d : 7368154821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The state dance of Kerala is:
Options:

1 % Kathak

> % Kuchipudi

= « Kathakali

, % Bharata Natyam

Question Number : 173 Question Id : 7368154821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TS F [T T &°

Options:

1 ® hilesh

> ® 2 2

= TAUTHT

% A ACTA

4

Question Number : 174 Question Id : 7368154822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following is the first woman Chief Minister for an Indian State?
Options:

, = Mayawati

> % Mamta Banerjee

- % Jayalalitha

4 + Sucheta Kriplani

Question Number : 174 Question Id : 7368154822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frafof@a & @ #ia 9 F ow vs7 F wavyw geaAdr Afger 22

Options:
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Question Number : 175 Question Id : 7368154823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is popularly known as ‘Hockey Wizard’?
Options:

, + Dhyan Chand

> % Rajiv Bhatia
5 % Vikram Singh

4 % Atjit Ghosh

Question Number : 175 Question Id : 7368154823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T & ¥ & - g6 & JgER & a7 ¥ 9ag 87

Options:

1.%*?%?1?;

> w =T srfeaT
L fasa g
4 % Hag gy

Question Number : 176 Question Id : 7368154824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who is the first captain for Indian National Cricket Team?
Options:

, % Bishan Singh Bedi

5 « C.K.Naidu

- # Kapil Dev

4 % Mohinder Amarnath

Question Number : 176 Question Id : 7368154824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT & T fhehe o & HIYUH FodlT Hid g7

Options:
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Question Number : 177 Question 1d : 7368154825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which one of the following is the most newly formed State of India?
Options:
. « lelangana

o % Chhattisgarh

z % Jharkhand

4 % Uttarakhand

Question Number : 177 Question Id : 7368154825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o # 9 #iF - 99 F1 g9y 9998 [FfFg =3 87

Options:

1.¢ SERIE
% OcdlEIE
=z R 3E {ds

g4 W Scdilds

Question Number : 178 Question Id : 7368154826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The author of the book *Akbarnama’ 1s?
Options:

1 % Shah Jahan

> % Alauddin Khilji
5 % Samudra Gupta

4 « Abul Fazl

Question Number : 178 Question Id : 7368154826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘HFa(ATAT JEAF & oNGeF P g7
Options:

1. % ailgsig'
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Question Number : 179 Question Id : 7368154827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The State Governors are appointed by?

Options:
1 « President

- % Chief Justice of India
=z % Prime Minister

4 % Chief Minister

Question Number : 179 Question Id : 7368154827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T & T=g9e & AgEa Hia aar g7
Options:

1.« { 5”“

, » NG & HET T

5 % TETAHN

#

HETHAT

4 ® 2

Question Number : 180 Question Id : 7368154828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The headquarters of World Bank is situated in?

Options:
, w» Chicago

>  Washington DC

z % New Delhi

4 % Canberra

Question Number : 180 Question Id : 7368154828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
feade &1 AEgTeT e W g 22

Options:
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Question Number : 181 Question Id : 7368154829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Which one of the following is not a Union territory?
Options:

, % Pondicherry

- % Chandigarh

5 Hyderabad

4 % New Delhi

Question Number : 181 Question Id : 7368154829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=T 7 Fiaar o= g af@T 9o Jar 27

Options:

1 ® ‘:I'i"fﬁET-‘l'ﬁ'
o W ﬂgli E.
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Question Number : 182 Question Id : 7368154830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is set up to promote exports and reduce imports?

Options:
1 « EXIM Bank

> ® NABARD
5 #® RBI

, % National Development Council

Question Number : 182 Question Id : 7368154830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T 7 o s rugar, &3 7 926 &7 U 3O FF F9 79 +
fore &r 1% 872

Options:
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Question Number : 183 Question Id : 7368154831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT & HaTUH Hleld HAT Hied o?

Options:
| % STEEY ATl Ag®

o> % G TSITeT=y
ool §gTg ATE

5 ®

Question Number : 183 Question Id ;: 7368154831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The first Law Minister of India was:
Options:

1 % Jawaharlal Nehru

> % C.Rajgopal Chary

= % Lal Bahadur Shastri
4 « DrB.R.Ambedkar

Question Number : 184 Question Id : 7368154832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which Indian State has English as official language?
Options:

1 % Karnataka

- % Maharashtra

- % WestBengal

4 Nagaland

Question Number : 184 Question Id ;: 7368154832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TRE F BT =g Fr 3R g dEE 32
Options:
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Question Number : 185 Question Id : 7368154833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the present Captain of Indian football team?
Options:

1 + Sunil Chhetri

> % Baichung Bhutia

= % Sarvesh Yadav
4 % Gaurav Singh

Question Number : 185 Question Id : 7368154833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A & TAAA HeaTd Gof & FHodlel i 87

Options:

i, REL

o % T TEF
4 » TR FHE

Question Number : 186 Question Id : 7368154834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following places in India has largest coal reserves?

Options:
1 ®% Meerut
- % Mathura

- % Rajkot

4  Raniganj

Question Number : 186 Question Id : 7368154834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ol § ¥ R & 50 T O FIe &7 998 H4196 85517 272

Options:
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Question Number : 187 Question Id : 7368154835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The idea of preamble in Constitution of India is borrowed from:

Options:
1 « USA Constitution

> % Spanish Constitution
= % British Constitution

4 % South African Constitution

Question Number : 187 Question Id : 7368154835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9T & TiTUE ® TFET &7 G Far ¥ forar 13y 27

Options:

, I.UH.T. Hiau

1 ¥

, » TfFer ofaus
5 ToIfeer i
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Question Number : 188 Question Id : 7368154836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following Indian universities completed 100 vears on February 13% 20167
Options:
, w Nalanda University

-  Banaras Hindu University

- % Delhi University

4, » Aligarh Muslim University

Question Number : 188 Question Id : 7368154836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 189 Question Id : 7368154837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In Gupta period, the official language of was:

Options:

1« Sanskrit
> #% Persian
%z % Arabic
4 % Hindi

Question Number : 189 Question Id : 7368154837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frafaf@a 7 & Hladr s, oq we  Afdwie o o

Options:

19"-&%
5 % RITHT
3 % 3ET
4%%

Question Number : 190 Question Id : 7368154838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who was the first medieval ruler to introduce Ministry of Agriculture?

Options:
1 % Sher Shah
> % Alauddin Khilji
= % DBabar

4 w Mohammed Bin Tuglaq
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 191 Question Id : 7368154839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In India, the major forest product is:

Options:
1 % Redwood

> % Sandalwood
= « Fuel Wood
4 % Rubber

Question Number : 191 Question Id : 7368154839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT H HIH THE I 3098 &

Options:

=93
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4 % &5

Question Number : 192 Question Id : 7368154840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which Indian State sends maximum members to the Rajya Sabha?

Options:
1 « Uttar Pradesh

> #% Andhra Pradesh

5 = West Bengal

4 % Maharashtra
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 193 Question Id : 7368154841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which Indian city. the first ever Municipal Corporation was set up?

Options:
, » Rajkot
- % Calcutta

5 % Bombay

4 « Madras

Question Number : 193 Question 1d : 7368154841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T F T oET H, avyH AR fAerE & Tumaer & g ofr?
Options:
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g_ﬁm
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Question Number : 194 Question Id : 7368154842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which place among the following receives highest rainfall in the world?

Options:

, « Cherrapunji
> % Imphal

- % Gangtok
4 % Kohima
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 195 Question Id : 7368154843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Before Suresh Prabhu. who was the railway minister of India?

Options:
1 +« Sadananda Gowda

> #% Uma Bharti

5 » Mamta Banerjee

4 % Laloo Prasad Yadav

Question Number : 195 Question Id : 7368154843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
[T I W Uge, HRA F @d FA FF A7
Options:
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Question Number : 196 Question Id : 7368154844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following has never been a captain for Indian Cricket Team?

Options:
1 ®% Mohammed Azhamddin

> « VVS Laxman

5 ® Saurav Ganguly

4 % Sachin Tendulkar

visit this website studytosuccess.in



Question NURIEL T FE A P A RARE B UL SR A RECY RN TR F R B S APE LR IABE  ves
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:
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Question Number : 197 Question Id ;: 7368154845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Black revolution in India is associated with production of?

Options:
1 % Black Gram

- % Charcoal
=z % Diamonds

4 + Crude Petroleum

Question Number : 197 Question Id : 7368154845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SRS H AT FIT (s Raeges) B 99 & 3c0ea ¥ geafaug ofr?

Options:
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Question Number : 198 Question Id : 7368154846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Khaziranga Sanctuary in Assam is famous for:

Options:

. w Tigers

> « Rhinoceros
= % Snakes

4 % Zebra
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 7368154847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The highest Coffee producing state in India is:

Options:
1 % Kerala
- % Tamil Nadu

= « Karnataka
4 ® Goa

Question Number : 199 Question Id : 7368154847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 200 Question Id : 7368154848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Before the drafting Committee, who proposed the preamble of Indian Constitution?

Options:
1 % Dr.B.R. Ambedkar

- % Lal Bahadur Shastri
- % Mahatma Gandhi

4 + Jawaharlal Nehru

Question Number : 200 Question Id : 7368154848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical i
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